LCM

LSH-HP 1 series

LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
__ ShkAbs |
R
FK
SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1506

| Increased linear guide performance

High rigidity

High precision

] Increased amount of overhang \

By improving the guide rigidity beyond that of conventional
products, the allowable moment has been increased.

' Repeatability +0.01 mm |

High rigidity and high precision are achieved with a
structure integrating the guide rail and finger.

|increased flexibility in design

| Can be mounted on three directions |

Axial (upward) mounting\ Horizontal installation \Vertical installation

Two positioning holes
enabling inverted mounting
with reference spigot
have been added

The addition of “positioning
holes” with the grip center
as reference allows the
centering precision to be
easily reproduced.

High-precision h_

positioning of
+0.025 mm

CKD

| @ i

v
-
N

| Long service life

| Double the durability of conventional models* |

Packing design has been optimized. Highly advanced

sliding technology has enabled durabili
conventional models.

Durability

2x
or more than

‘e

ty twice that of

Abrasion-resistant
packing due to
ll special compounding

H

| Adoption of grease

supporting high-
frequency usage

3

LSH-HP Conventional model
LSH

Rail plate system adopted |
The rail plate allows switch
replacement while the hand

is attached to the robot or

equipment. T o

Switch
can be easily

replaced
o

Switch + Rail Plate / Switch

e
o Optimized
L&) \_sealing function

*Compared with our conventional LSH model.

Reduced processes on site

| High-precision positioning of +0.025 mm |

N 4

w

¥t §



BN
Increased productivity
beglns with the Llnear Sllde Hand

. Usage Examples: Reduction!of processes on siteb‘_

Replacement of body

; r
Positioning holes that guarantee centering precision enable highly reproducible mounting, with no fine adjustment required. =

This contributes to reduced mounting adjustment work-hours and improved reproducibility.

In conventional
operations:

Teaching Teaching
required not required

P4

Replacement of switch

The switch can be replaced without detaching the hand from the robot or equipment.

!.

o 1

Extensive series variation

iy

Ny

Standard With rubber cover Long stroke length Long stroke length + with rubber cover

v el

Basic opening/closing direction tap Side tap Opening/closing direction through hole

@ LCM

LCR

LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

|Chuk
| ShkAbs
I
FK

SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHL36
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1507




LCM

Li Slide Hand with YR n
Lg]r?ga}[L I\/Ilegsu?iggvlglljnction LSH-HPZ Series (_/W 2

LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4

| High precision

Example image.

| Repeatability £0.02 mm |

A new sensor system is adopted and integrated, achieving
higher repeatability than ever before.

Linearity FS +0.5% |

USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
__ ShkAbs |
R
FK
SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1508

With correction adapter: FS 10.5%
Without correction adapter: FS 3% (I :‘ ':

(ILLL Jdmm

A correction adapter is adopted to improve the linear
accuracy.

First in

| Integrated structure the industry

Adopts an LVDT* sensor highly resistant to vibration and impact.

A displacement sensor is built into the body, achieving a high-precision integrated structure.
* LVDT is short for Linear Variable Differential Transformer, a sensor that converts mechanical displacement into electric signal for output.

Stroke detection sensor

I'i]_:.
M8 4-pin connector s_)ha

Amplifier

=

Rubber cover

Linearity correction adapter

| Environmental resistance |

The IP65 equivalent amplifier and rubber cover prevent the ingress of cutting chips and water drops.

Extensive series variation

E’ﬂ
-
3

!| . e b v P

Basic opening/closing direction tap Side tap

| m
N : ! ' -l .-
L] = t L
§u J o |
e
Amplifier Amplifier With rubber cover “-‘-‘"‘&
Ll R

4.

Opening/closing direction through hole Flat

side mounting front mounting

CKD



'ﬁ

e
= —

A new series that combines 3—
A |mproved reliability and productlwty

—— Usage examples

-

Series

L il

&

i |

Workpiece foreign object judgment

Grips and measures simultaneously, reducing the
number of inspection steps.

Gripping orientation judgment

By detecting misaligned orientations when gripped, contact
accidents can be prevented at the transported destination.

Elimination of human error

All strokes are output in detail, eliminating manual
adjustment error as caused by conventional switches.

Voltage

Stroke length

-

Workpiece model judgment

Capable of instantaneously judging minute differences in =

e

workpiece models.——

| Judging workpiece C. |

Minute workpiece gripping / missed grip judgment

Accurately judges whether even tiny workpieces were

gripped or missed.

Predictive maintenance

Monitors abnormal wear and deformation of gripping
fingers and jigs through changes in output to prevent
equipment and robot damage.

Output

Ex) Startup inspection record

Normal

Threshold

@Abnormal

Date

CKD

LCW

LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
Mecknd/Chuk
ShkAbs

FJ

FK

[ SpdConr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1509




Series variation ' Linear Slide Hand LSH-HP Series

LCM
LCR
LCG
LCW
LCX
S
Sig Bore si
S Variation Model No. ore size
UCA2 (mm)
ULK*
jSSK(;W Double acting/single acting without rubber cover 26
Usso 210
UFCD
usc 216
jstss LSH-A
B 220
o, 025
HCA
LBC 232
CAC4
g%\% Double acting/single acting with rubber cover 26
RCs2 I 210
RCC2
Pec ||, LSH-G 216
e 2 LSH-F 220
GLC [}
MFC " 225
BBS =

o
e | T 632
e Double acting long stroke length without 210
HRL rubber cover T
LN 216

LA LSHL-A
h‘ec-ﬁim QZO
ShkAbs
FJ 225
FK
SpdContr Double acting long stroke length with 210

__Ending | rubber cover T,

LSHL-G 16
Fi100 - LSHL-F °
BSA2 “

BHABHG - 220
LHA .
HAQG With length measuring function, double acting 310
:gl; without rubber cover &7

9 216
nor l LSHM-A
HLAHLB * i .-4 220
HLAGHLBG d_) - e
el Tt 525
mFFG o | With length measuring function, double acting 210
mars | = | with rubber cover T
HFP 9
FH500 LSHM-G 016
HBL ‘ LSHM-F 220
HJL -ul” -
HDL - 025
HJD
BHE

1510 CKD



@Positional reference of positioning hole ......... 1567

@Model selection...............ccccevvieeeiiieeeiinnn.... 1568
@Technical data ..............ococovoveveeeeeeee. 1570 |
@Cylinder switch precautions ........................ 1576 LCG
LCW
LCX
ST™
Gripping power (N) STSeTL
STR2
10 50 UCA2
. ULK*
JSKIM2
JSG
4 JSC31SC4
[ USSD
UFCD
- 6
1512
— 10
] 14
I 22 F2S
—— F3S
4
- F2H/V
- 6
F3H/V 1522
[ 10
14 F3PH/V
— 22 T2H/V
- 8 T3HN
(] 12
T2H/VR3 | 1532
[ ] 18
T3PHNV
] 22 3PH/ FJ
FK
SpdContr
— 8 Ending
[ LSH-HP
- 12 1540 | LsH
FH100
BSA2
[ 18 BHABHG
LHA
LHAG
- 4 HAP
HKP
- 6 HCP
— | 1546 | i
[ ] 10 HLAHLB
HLAGHLBG
] 14 HLC
HLD
= 4 PG
HMFB
- 6 HFP
— 1554 | FH500
- 10 HoL
14 HMD
— HDL
HJD
*Range of gripping power at supply pressure 0.5 MPa and finger length 20 mm BHE

CKD 1511



Linear Slide Hand double acting / single acting

LSH-A series

e @ Operating stroke: 4, 6, 10, 14, 22 mm

LCW Double acting Single acting (normally open) Single acting (normally closed)

peE = @

STSISTL
STR2

UCA2 e :
Ul Specifications

JSG

Jscyuscs | Bore size mm 26 210 216 320 225 232

LCM
LCR

~USSD | Actuation Double acting/single acting (normally open/normally closed)
UFCD
~Usc | Working fluid Compressed air

uB Max. working pressure MPa 0.7
JSB3 .
~LMB | Min. working MPa Double acting 0.15 0.2 0.1
LML pressure Single acting 0.3 0.35 0.25
HCM .
~ Hca | Portsize M3 M5

LBC Ambient temperature °C -10 to 60 (no freezing)
CAC4
~ UCAC2 | Operating stroke mm 4 6 10 14 22

CAC-N | Repeatability mm +0.01
UCAC-N
~ RCs2 | Weight Double | Finger OP: 1, 2, 3 0.135 0.275 (0.28) 0.49 (0.495) 0.73 (0.78)

RCC2 | acting (Single ] 0.032 0.06
~pcC | acting) kg Finger OP: 4 0.14 0.28 (0.285) 0.495 (0.5) 0.76 (0.81)

~ SHC | Lubrication Not required
MCP

GLC
MFC

8BS | Gripping force unit: N

__RRC_| 5 Double acting
GRC Bore size (mm) - -
RV3* Open side |Closed side
3.3

___NHS | 26 6.1
HRL

LN 210 17 11
216 45 34

Chuk

MecHnd(Chuk 220 66 42

ShkAbs (@) O 225 104 65
FJ
—FK 232 193 158

SpdConr o) e} 5 ize (mm) Single acting (normally open)
i ore size (mm
Ending Closed side

LSH-HP

LSH

FH100 210
Bl | - 216 27

BHABHG .

LHA ‘ 220 33

LHAG | 225 45

HAP * —
HiP A4 g o~

__HCP | . Single acting (normally closed)
HGP Bore size (mm) -
26

HLAHLB 3.7
HLAGHLBG
HLC 210 13
~ HLD | 216 38
HMF
HMF-G 220 57
__HMFB | 225 83
HFP
FH500 232 161

~ HBL | * At supply pressure of 0.5 MPa, £ = 20 mm, stroke center
HJL *1:Avoid gripping the workpiece with single acting spring force
HMD as much as possible. The gripping force may become

HDL unstable, leading to operation failure.
HJD
BHE

1512 CKD

1.9
71




LS H 'A Series

Switch specifications

LCM
LCR
LCG
LCW
LCX

Switch specifications

Proximity 2-wire Proximity 3-wire Proximity 2-wire Proximity 3-wire

Applications

Programmable
Controller dedicated

Programmable
For controller, relay

Programmable
Controller dedicated

Programmable
For controller, relay

Output method

NPN output

NPN output PNP output

Power supply voltage

10 to 28 VDC

10to 28 VDC 4.5t0 28 VDC

Load voltage/
current

10to 30 VDC
5to 20 mA

30 VDC,
50 mA or less

10 to 30 VDC
5to 20 mA

30 VDC, 50 mA or less

Indicator

LED (Lit when ON)

Yellow LED (Lit when ON)

Leakage current

1 mAorless

10 yAor less

1 mAorless

10 pAor less

Shock resistance

980 m/s?

Weight g

1m:10 3 m:29

*1: The F-switch uses a bend-resistant lead wire by default.

STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C31JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA

Proximity 2-wire Proximity 3-wire

T2HR3/T2VR3
(Lead wire, a bend-
resistant type)

LBC
CAC4
UCAC2
CAC-N

T2H/T2V

T3H/T3V T3PH/T3PV

Applications

Programmable

Controller dedicated

Programmable
For controller, relay

Output method

NPN output |

PNP output

Power supply voltage

DC10 to 28V

Load voltage/
current

10 to 30 VDC
5to 20 mA

10 to 30 VDC
5to 20 mA

30 VDC or less
100 mA or less

Indicator lamp

Red LED (Lit when ON)

Red LED (Lit when ON)

Red LED (Lit when ON) | Yellow LED (Lit when ON)

Leakage current

1 mAorless

1 mAorless

10 pAor less

Impact resistance

980 m/s®

Weight g

1Tm:18g 3m:49g

CKD

UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
| ShkAbs
kS
FK

SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1513



LS H 'A Series

LCM | How to order Code Description
LCR
GG Without switch (built-in magnet for switch) © Rubber cover
—cw | LSH HP1 A Without rubber cover
LCX : j © Bore size (mm)
% With switch (built-in magnet for switch) 06 26
— oo 10 210
STSISTL - 1 R - F2H - D - HP1
—STRZ | 16 216
UCA2 20 220
ULK* 25 225
7jSSK(;M2 ORubber cover 32 032
US| .
USSD ‘ _ OActuation D Double acting
UFCD @Bore size S Single acting / normally open
__UsC | c Single acting / normally closed
UB
LMB OFinger 1 Basic
LML 2 Side tap
% 3 Through hole
LBC 4 Flat
CAC4 - D Grip center reference, high precision positioning hole
" UCAC2 | GGflp center referer)(_:e, ) N None
CAC-N high precision positioning hole T
UCAC-N R Refer to the figure at left.
RCS2
__RCC2 | @ Switch model No.
% @switch model No. Blank | No switch, with F-switch rail
—MCP | N No switch, no switch rail
~cLc | Grip center reference, high precision A No switch, with T-switch rail (332 only)
MFC s . e . Straight lead | L-shaped Voltage ) Lead
~ &gs  Positioning hole position diagram i lead wire | AT Indicator | L
RRC L R - F2S* [ ) 2-wire
__GRC | - F3s* [ 3-wire
RV3* Positioning hole W F2H* F2Vv* . 2-wire
BN O O F3H* F3v* g ® | o | 3wie
o \3 R o4 o N, F3PH* FPV | 5 o T [Guire
1c3 O T2H* T2v* & ) 2-wire
o O [0 o -
Chuk ol ol T2HR3 T2VR3 ® 2-wire
Mectnd Chuk o o o o T3H* T3V* [ ) 3-wire
ShkAbs = T3PH* T3PV* [ ) 3-wire
% * Lead wire length
" SpdContr | Blank 1 m (standard)
— Piping Piping 3 3 m (option
Ending Surface L surface | surface Surface R (option)
- . .
5188 Refer to the Dimensions (pages 1516 to 1521) and page 1567 for ®switch SNt lauanilby "
; ; R 1 on open side
LSH details. quantity -
EH100 H 1 on closed side
BSA2 D 2
BHABBHG HOW tO order SWitCh *1: If the one with the switch is selected, the product comes with a rail
LHA plate corresponding to the switch.
LHAG *2: Only @32 can be selected with the T-switch.
HAP (SW)'( F2H*> *3: Refer to page 1576 for cylinder switch precautions.
e v Switch mounting availability table
~ HGP | Switch model No. Model No.  |Switch model No.|Side mounting|Rail mounting
— = (Item @ above)
HLF2 LSH-ACS F2/30] [ -
HLAHLB ) F2/3S - o
- LS | F2/3] o [
% [Example of model No.] LSH-A10 F2/3S ° °
~ Iie | LSH-A06D1R-F2H-D-HP1 F213 ] ° °
: , LSH-A16
HME-G Model: Linear Slide Hand F2/3S @ [ J
HMFB | @Rubber cover : Without rubber cover LSH-A20 F2/3[] @ [
HFP | @Bore size : 06 F2/3S ) )
FH500 | @Actuation : Double acting F2/3H-PH - [
~ HBL | @Finger : Basic LSH-A25 F2/3V-PV o o
% @®Grip center reference, ‘R F2/3S [ [
~ HpL | _ high precision positioning hole F2/3[] ([ J o
" HJD | @Switch model No. : Proximity F2H, lead wire 1 m LSH-A32 F2/3S [} [}
BHE | ®Switch quantity 02 T2/3[] - o

1514 CKD



Internal structure and parts list

LS H 'A Series

Internal structure and parts list

@ LSH-A06

—

LTI

@0

N

A

O

—~— '\

e

bebbbos

®

®

®

O

O

(

Parts list

Finger

Cross-section A-A

Stainless steel

‘_IT[]

il

@ LSH-A10to 16

LCM
LCR
LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C31JSC4
USSD
UFCD
usc
uB

 ©

JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCS2

(0]
0]

Remarks | No. [Part name _____|

15 [Cushion rubber

e

Material
Urethane rubber

Linear guide

Stainless steel

16 |Coil spring

Piano wire

Single acting C

Lever

Stainless steel

17 |Piston packing

Nitrile rubber

Fulcrum axis

Steel

18 |Coil spring

Piano wire

Single acting S

Body

Aluminum alloy

19 |O-ring

Nitrile rubber

RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
| ShkAbs
kS
FK

SpdContr

Ending

LSH
FH100

BSA2
BHABHG

Piston rod

Stainless steel

20 |C-snap ring

Steel

Spring bracket

Aluminum alloy

21 |Pan head machine screw

Stainless steel

O IN|O|O || IN|=

Magnet

22 |Plug

Stainless steel

Single acting C

©

Piston

Aluminum alloy

23 |Plug

Stainless steel

Single acting S

10

Head cover

Aluminum alloy

24 |C-snap ring

Stainless steel

ik

Operation shaft

Steel alloy

25 |Hexagon socket head cap screw

Stainless steel

232 is steel

12

CR ring

Stainless steel

26 |Pin

Steel

LHA
LHAG
HAP

HKP
HCP
HGP
HLF2
HLAHLB

13

Cap

Stainless steel

27 |Hexagon socket set screw

Stainless steel

14

Rod packing

Nitrile rubber

28 |Rod metal

Aluminum alloy

Repair parts list

Cannot be disassembled

26

LSH-RPF-06-HP

Rail plate kit No.
For F-switch For T-switch

210

LSH-10K-HP

216

LSH-16K-HP

o000

LSH-RPF-10-HP

LSH-RPF-16-HP

220

LSH-20K-HP

225

LSH-25K-HP

232

LSH-32K-HP

00

LSH-RPF-20-HP

Rail plate small screw

LSH-RPF-25-HP

LSH-RPF-32-HP

LSH-RPT-32-HP

HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

CKD

1515



LS H 'A Series

% Dimensions (bore size: @6)

LCG _AOR
oW @ LSH-A06*1N
LCX 5 ~
STM o 0

STG —
STSISTL

STR2 3.2 36.8 2-M2 depth 1.8

BEKAz i 17 25 For mounting rail plate 52\331 ’:1055

JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB 38.8
LML
HCM

HCA ! }}
LBC 1o < 2-M3 port
CAC4 f I ( 4-M2.5 x 0.45 through

<
UCAC2 ° —5— =
CACN -4 <1001

_ CACN] —al3)
UCAC-N | 2-M2 depth 1.8 3|57

RCS2 | For mounting rail plate 9 . ) . .
RCC2 18 1: Do not fix the body using a rail plate

~pcc | A arrow view mounting tap

SHC

~MCP @ LSH-A06*2N @ LSH-A06*3N @ LSH-A06*4N
—Mie ] 4-M2.5 x 0.45 depth 5

BBS
" RRC | 4-M2.5 x 0.45 through

~ GRC | M
RV3* D>-01| @ 4-¢2.9 through

NHS O o J#,,

0.5

]

N

15
20

31 i < o f
o) @7H8 depth 1.5
y ©7H8 depth 1.5
\ i Vo Ymnl
[| & — 2-M3 x 0.5 through 2
12 L Pilot hole 2.6 through
25.5 Surface L

1\ ) A

‘:D
HEREE
26
20
+
0
0.

Surface R

0.5

10£0.05

25 17 54

o
Pq
o
A\
2.3
2

o

AN

2H9
!
i

10.25
2.45
[ 6
A
K
©)
FanY —l

2
Pan\

-

A4

52 %

Vany

A

Fany
FaY
A\
FaY
A\

w
[$)]
~
1.240.2
4.45

\
HRL % nng 7 #
LN N — =N
Chuk 3|5.7
MecHnd/Chuk
ShkAbs
FJ
FK
SpdContr . ' '
" Ending | @ LSH-A06™R /L @ With switch, rail assembly

13

40.5 (32.5) +0.025 2-02H7 depth 2.5
FH1G o2 -1
 BSA2 \
 BHABHG @14

LHA 4? g ‘ T - : [
LHAG p =43 — S IEY -

HAP @Y i @ [t S}
HKP L ‘
HCP
HGP *2: Positioning holes are machined on surface R for
HLF2 LSH-A06**R and surface L for LSH-A06**L.
HLAHLB Refer to page 1567 for the base line.
HIAGHLBG | *3: The dimensions in parentheses are the dimensions
HLC for LSH-A06*4.
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD *4: Refer to Page 1576 for cylinder switch precautions.

" HDL | *5: Use fittings with an outer diameter of @9 or less to prevent them from interfering with

" HJD | each other.

BHE

1516 CKD

o
QO

A4

.

|
Ve
N4
—

(]

-

I—f\

==3
-
—=a
=d
ﬂ 38.8

]
4.2+0.025

841001
(©)

)
A4

16
T
SiENpE

A4

0
A\
60
AN
n;




LS H 'A Series

Dimensions

Dimensions (bore size: @10) tgg
* LCG
@ LSH-A10*1N - o
LCX
= STM
3 STG
& = STSISTL
2-M3 x 0.5 depth 6 STR2
UCA2
ULK"
JSKIM2

- 8-M2 x 0.4 depth 1.8
x 25 2-M3 x 0.5 depth 6
5 275 For mounting rail plate S %

E— lussD

T UFCD
usc

J UB

JSB3

S LMB

= ILMB

=

T g
23
| LML

12 || 6 37.8 211H9 (*9°%) depth 2 & LML
57 1; 5.240.02 [ HCM
HCA
Surface L |4g 440 g5|Surface R LBC
CAC4
UCAC2
CAC-N
UCAC-N
*1: Do not fix the body using a rail plate | RCS2
g M3 x 0.5 (open port) mounting tap RCC2
*2: For switch side/rail mounting, the PCC
through hole cannot be used. SHC
MCP
@ LSH-A10*2N @ LSH-A10*3N @ LSH-A10*4N GLC
MFC
4-M2.5 x 0.45 depth 4.7 BBS
~2a [RRC_
] GRC
RV3*
- L 9) é é* ﬁ NHS
DD I L HRL
| : : S & o ] : : LN
o ¥ & i : 3 oY & 1
|Chuk
MecHnd/Chuk
ShkAbs

4-M3 x 0.5 depth 5.5
*2) Pilot hole 2.6 through 2-92 H9 (%) depth 3 5.2+0.02

16

.02

35
18
23

]
|

7.6£0

S YS,Y‘F_J_
o

R "
<

0% 2

15.2'32
11.23,

N
J:\J

4-M2.5 x 0.45 through M3 * 0.5 (closed port)

-0.05

F.id
[Te) O

& : S

4-M2.5 x 0.45 through

2H9

N

14
2.45

4-92.9 through

o
&
o
54 '3
6

[
la

=y
ls ol

2
w
o
Z
14 04
—m
]

-
ey

|
vy

7.6+0.025

16
ALY
A

15.240.01
|
i
o]

49 g
FK
o SpdContr
@ LSH-A10*R /L @ With switch, rail assembly 145 Ending
43 (35) +0.025 2-92 H7 ( 3.01) depth 3 32.3 0.1
[ e LSH
[ T FH100
BSA2
o, % O__d BHABHG
[ (@ m— LHA
. . o LHAG
'_l o & © d | HAP
l HKP
HCP
*3: Positioning holes are machined on surface R for HGP
LSH-A10**R and surface L for LSH-A10**L. HLF2
Refer to page 1567 for the base line. HLAHLB
*4: The dimensions in parentheses are the dimensions ] HLAGHLBG
for LSH-A10*4. — HLC
H_Iﬁ HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
*5: Refer to page 1576 for cylinder switch precautions. HMD
HDL
HJD
BHE
CKD 1517




LS H 'A Series

LCM
LCR
LCG
LCW

LCX

ST™M

STG

STSISTL

STR2

UCA2

ULK*

JSKIM2

Dimensions (bore size: ¢16)

@ LSH-A16*1N

JSG

JSC3/JSC4

USSD

UFCD

usc

30

VanY
A2y

16

LO-

4-M4 x 0.7 depth 8
*2) Pilot hole 3.4 through

-
[Te}

2-M4 x 0.7 depth 4.5

31 25

8-M2 x 0.4 depth 1.8
For mounting rail plate

—

Q

\
©

[
+2.2
-0.2 )

uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd(Chuk
ShkAbs
FJ
FK

SpdContr
Ending
LSH-HP

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP

-

P

44
14.95;

20.9

e

N

<
N

ii

) O

o
A=l

75

24.5
42.5

67.3

4-M3 x 0.5 through

M5

x 0.8 (closed port)

fan
A

[ce)

0
C’gt \\’.l

™
—

4

oD
J

@ LSH-A16*2N

4-M3 x 0.5 through

M5 x 0.8 (open port)

@ LSH-A16*3N

4-¢3.4 through

25

25
S
~

@ LSH-A16**R /L

203H7 (*3°") depth 3

53.3 (44.3) £+0.025

11+0.025

HCP
HGP
HLF2
HLAHLB
HLAGHLBG

© <

PN

Q

22+0.01

E
ye

[©)

D1

©

HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD

BHE

1518

*3: Positioning holes are machined on surface R for

LSH-A16**R and surface L for LSH-A16**L.
Refer to page 1567 for the base line.

*4: The dimensions in parentheses are the dimensions

for LSH-A16*4.

CKD

2-g3 HI (*9°%) depth 3

[

6.5+0.02

817 HY (4°%) depth 2

2-M4 x 0.7 depth 8

11£0.02

22
30.6

Y

K

—€E|j &

15

1+0.02

Surface L Surface R

23.6+0.05

*1: Do not fix the body using a rail plate
mounting tap

*2: For switch side mounting, the through
hole cannot be used.

@ LSH-A16*4N

171

3.05
vaN

7.4

4-M3 x 0.5 depth 6

2.5
S

2.5H9

0.2

58.3

@ With switch, rail assembly

35.8

0.1

16

oo

*5: Refer to page 1576 for cylinder switch precautions.



Dimensions (bore size: 320)

LS H 'A Series

Dimensions

@ LSH-A20*1N

27.2

4-M4 x 0.7 through

@ LSH-A20*2N

4-M4 x 0.7 through

58
26.3

0.1

35

6 & TI‘|

Fan
A%

Y Y i®

©
©
st

ko

4-M5 x 0.8 depth 10
*2) Pilot hole 4.3 through

2-M5 x 0.8 depth 8

25
39 T\

+2.2
-0.2

8-M2 x 0.4 depth 1.8

For mounting rail plate

16.3

EL

12 Gos

20 9.5

29

52.8

84.8

0.8 (closed port)

] (i ———— =

w
—

@ LSH-A20*3N

<

© o

M5 x 0.8 (open port)

4-94.5 through

3

A

&

;

N7

Yo [

o

@ LSH-A20"*R /L
68.3 (56.3) +0.025

16.8+0.025

Py

N

33.6+0.01

2-04 H7 (*°"%) depth 4

*3: Positioning holes are machined on surface R for
LSH-A20**R and surface L for LSH-A20**L.
Refer to page 1567 for the base line.

*4: The dimensions in parentheses are the dimensions

for LSH-A20%4.

@ With switch,

2-g4 HY (*3%) depth 4

16.8+0.02

7.5+0.02
LSl

2-M5 x 0.8 depth 10

221 H9 (*3°?) depth 3

3R
42

Surface L
—_—

[
18

27.6+0.05

6.8+0.02

754002

Surface R
|Quriace ~

*1: Do not fix the body using a rail plate
mounting tap

@ LSH-A20*4N
4-M4 x 0.7 depth 8

—r

3

=

3H9

e}

Ea

22
3.95
10

="

11.6 27

=4

1.620.2

rail assembly

43.8 0.1

—

{

},
}
€

@
[©)

*5: Refer to page 1576 for cylinder switch precautions.

CKD

o \J &

LCM
LCR
LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C31JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
| ShkAbs
kS
FK

SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1519



LS H 'A Series

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML

Dimensions (bore size: @25)

@ LSH-A25*1N

36.5

Van
A

[O-

N
N

2-M6 x 1.0 depth 10

4-M6 x 1.0 depth 12

10,

*2) Pilot hole 5.1 through

25
42.5

8-M2 x 0.4 depth 1.8
For mounting rail plate

log

i
I
72
33.3%23
19.33

18
—ym

Fan Y
©

HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd(Chuk
ShkAbs
FJ
FK

SpdContr
Ending
LSH-HP

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP

25

1

30

63.6

102.7

4-M5 x 0.8 through

10£0.02

2-g4 HO (‘3%) depth 4 >
(") dep 2-M6 x 1.0 depth 12

226 H9 (3°%) depth 3.5

l‘[

Fan Y
-

21.8+0.02

40
52

M5 x 0.8 (closed port)

o
N

12 505

@ LSH-A25*2N

4-M5 x 0.8 through

© o

[Ie}

~oa
o

[=2)

12

@ LSH-A25"*R / L

84.6 (69.6) +0.025

HKP

21.8+0.025

©

HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD

BHE

1520

+
+
@)

<]
<]

43.6+0.01

O

*3: Positioning holes are machined on surface R for

LSH-A25**R and surface L for LSH-A25**L.
Refer to page 1567 for the base line.

*4: The dimensions in parentheses are the dimensions

for LSH-A25%4.

CKD

@ LSH-A25*3N

2-g4 H7 (*3°") depth 4

M5 x 0.8 (open port)

4-25.5 through

&

o
&
o
Av=

<&

21.8£0.02

Surface L

1040.02

33.6£0.055uace R

*1: Do not
mounti
*2: For sw

fix the body using a rail plate

ng tap
itch side mounting, the through

hole cannot be used.

@ LSH-A25*4N

26.6

1677°

4

4H9

M5 x 0.8 depth 10
4

o)
L
vgpﬁ

4L

1
ol

]
©

(10.5)

@ With switch, rail assembly

0.1

1
ity

~1=2]

87.7

i

*5: Refer to page 1576 for cylinder switch precautions.



Dimensions (bore size: 32)

LS H 'A Series

Dimensions

LCM
LCR

@ LSH-A32*1N

39.6

@ LSH-A32*2N

4-M6 x 1.0 through

4-M6 x 1.0 through

48 (57)

©
N

Fai
H"‘Hl@

2l

2-M6 x 1
4-M6 x 1.0 depth 1

Pilot through-hole 5.

.0 depth 10

3
1

22 125

8-M2 x 0.4 depth 2
For mounting a rail plate

98

487%°
2695

_+_i

<

@©
[}
-

"%

40 (49)

29 12

67 (76)

113 (122)

M5 x

0.8 (closed port)

24

=B
%>¢H?J

14

~

16905

e

M5 x 0.8 (open port)

34.1(43.1)

@ LSH-A32*3N

(0]

4-26.6 through

(0]

rs
_+_
.+.
&

2-65 H9 (3% depth 5

234 HI (*3°°?) depth 4

12+0.02

2-M6x1.0 depth 13

N
o

Vs

60

4

2340.02

:ﬁf‘

12+0.02

«
26

40+0.05

R

*1: Do not fix the body
using a rail plate mounting tap

*2: () are the dimensions during single action.

*3: For switch side mounting,
the through-hole cannot be used.

@ LSH-A32*4N

@ LSH-A32*1/2/3R/L

90 (74) £0.025

2-¢5 H7 (3°"?) depth 5

[Te]
N

0

o
F

o ¥

H

01

T

_+_
4

46+0

_+_
4
; ° & 4

*4: Positioning holes are machined on surface R for
LSH-A32**R and L for LSH-A32**L.
Refer to page 1567 for the base line.

*5: The dimensions in parentheses are the dimensions

for LSH-A32*4.

e

@ With F-switch, rail mounting

0.1

0.1

04}_

4-M6 x 1.0 depth 12

-

(=2}
I
[}

34.8
20

o

7.3

LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C31JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

2579

(15.6)

&
F T
+ 4
&

o

Chuk
MecHnd/Chuk
ShkAbs

97 (106)

N
o
w

24.8
Il

=

NI T

N

5.3

ri

24.8

£
S\ 6

_‘_4};

*6: Refer to page 1576 for cylinder switch precautions.

@)

KD

I
PR
SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1521




LCM
LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4

Specifications

Bore size

mm

Linear Slide Hand double acting / single acting with rubber cover

LSH-G / LSH-F series

@ Operating stroke: 4, 6, 10, 14 , 22 mm

Double acting

feE, e = @

26

210

Single acting (normally open)

216 220

Single acting (normally closed)

225

232

USSD
UFCD
usc

Actuation

Double acting/single acting (normally open/normally closed)

Working fluid

Compressed air

uB
JSB3
LMB
LML
HCM
HCA

Max. working pressure

MPa

0.7

Min. working pressure
MPa

Double acting

0.15

0.2

0.1

Single acting

0.3

0.35

0.25

Port size

M3

M5

LBC
CAC4
UCAC2

Ambient temperature

°C

=10 to 60°C (no freezing)

Operating stroke

mm

6 | 10 |

14 |

22

CAC-N
UCAC-N
RCS2

Repeatability

mm

+0.01

Weight Double acting (single acting)

kg

0.033

0.07

0.15 | 0.03(0.035) |

0.53 (0.535) |

0.81

RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd(Chuk
ShkAbs
FJ
FK

SpdContr
Ending
LSH-HP

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD

BHE

1522

Lubrication

Not required

Gripping force

CKD

26

[
3.
z

Double acting

6.1

Closed side

210

17

© | »
o | w

216

40

30

220

66

42

225

104

65

232

26

193

210

158

Single acting (normally open)

Closed side

216

220

225

26

o | =
w | ©

24
28

3.7

45

Single acting (normally closed)

210

12

216

31

220

56

225

83

* At supply pressure of 0.5 MPa, £ = 20 mm, stroke center

*1:Avoid gripping the workpiece with single acting spring force
as much as possible. The gripping force may become
unstable, leading to operation failure.



LSH'G I LSH'F Series

Switch specifications

LCM
LCR
LCG
LCW
LCX

Switch specifications

Proximity 2-wire Proximity 3-wire Proximity 2-wire Proximity 3-wire

Applications

Programmable
Controller dedicated

Programmable
For controller, relay

Programmable
Controller dedicated

Programmable
For controller, relay

Output method

NPN output

NPN output PNP output

Power supply voltage

10 to 28 VDC

10to 28 VDC 4.5t0 28 VDC

Load voltage/
current

10to 30 VDC
5to 20 mA

30 VDC,
50 mA or less

10 to 30 VDC
5to 20 mA

30 VDC, 50 mA or less

Indicator

LED (Lit when ON)

Yellow LED (Lit when ON)

Leakage current

1 mAorless

10 yAor less

1 mAorless

10 pAor less

Shock resistance

980 m/s?

Weight g

1m:10 3 m:29

*1: The F-switch uses a bend-resistant lead wire by default.

Proximity 2-wire Proximity 3-wire

STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C31JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC

CAC4
UCAC2
CAC-N

T2HR3/T2VR3
(Lead wire, a bend-
resistant type)

T2H/T2V

T3H/T3V T3PH/T3PV

Applications

Programmable

Controller dedicated

Programmable
For controller, relay

Output method

NPN output |

PNP output

Power supply voltage

DC10 to 28V

Load voltage/
current

10 to 30 VDC
5to 20 mA

10 to 30 VDC
5to 20 mA

30 VDC or less
100 mA or less

Indicator

Red LED (Lit when ON)

Red LED (Lit when ON)

Red LED (Lit when ON) | Yellow LED (Lit when ON)

Leakage current

1 mAorless

1 mAorless

10 pAor less

Shock resistance

980 m/s®

Weight g

1Tm:18g 3m:49g

CKD

UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
| ShkAbs
kS
FK

SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1523



LSH'G / LSH'F Series

% How to order
LcG | Without switch (built-in magnet for switch) Code Description
G Chloroprene rubber
% With switch (built-in magnet for switch) F Fluoro rubber
STR2 06 26
% 10 210
—JSKiM2 | 16 1016
~JsG | ORubber cover 20 220
JSC31USC4 25 225
USSD 32 232
UFCD
~Usc | .
UB @Actuation D Double acting
JSB3 @®Bore size S Single acting / normally open (232 cannot be selected)
LMB C Single acting / normally closed (32 cannot be selected)
LML
HCM © Finger
HCA OFinger 1 Basic
LB . . . . e .
T((;M @ Grip center reference, high precision positioning hole
~UCACZ | @Grip center reference, N None
—CACN| high precision positioning hole L
T Refer to the figure at left.
UCAC-N R
RCS2
" RCC2 | : @ Switch model No.
—PCC | @switch model No. Blank | No switch, with F-switch rail
SHC N No switch, no switch rail
7'\6"&? Grip center reference, high precision A No switch, with T-switch rail (232 only)
2= | PR it ; Straight L-shaped Voltage . Lead
.\BABFg positioning hole position diagram cadwire | leadwie |C"FagTpg] Indicator | A
RRC L R - F2S8* (] 2-wire
GRC - F3s* o 3-wire
RV3* Positioning hole Positioning hole F2H* F2v* . [ 2-wire
S * % e _Wi
NHS P N F3H F3V £ o 1-color 3 w!re
HRL e o] O] N F3PH* F3PV* 2 o 3-wire
LN o] = T2H* T2v¢ | £ ®| “FP [2wie
AL 0 T2HR3 T2VR3 ® 2-wire
esaonk | | / \ ). \ T3H* T3V* @ 3-wire
ShkAbs T3PH* T3PV* . 3-wire
FJ j :; * Lead wire length
FK Blank |1 m (standard)
SpdContr Pipin Pipin i
# Surface L suffa(?e suffa(?e Surface R 3 3 m (option)
__Ending | — . ® Switch quantity
LSH-HP Refe'r to the Dimensions (pages 1526 to 1531) and page 1567 for @SL\:v;ﬁn R 1 on open side
~ LSH  detals. d Y H 1 on closed side
FH100 D 2
BSA2
WBHG H *1: If the one with the switch is selected, the product comes with a rail
T LHA HOW tO Order SWItCh plate corresponding to the switch.
i aac | *2: Only 32 can be selected with the T-switch.
% (SW>'< F2H*> *3: Refer to page 1577 for cylinder switch precautions.
% v Switch mounting availability table
_ e | itch I No.
HGP S(\ﬁlerz goa(iﬁ)ve? Model No. Switcl No.|Side munting Rail mounting
HLF2 -
HLAHLB LSH-G/F06 F2/3S - o
- LS | F2/3] o [
% [Example of model No.] LSH-G/F10 F2/3S ° °
~ ave | LSH-G06D1R-F2H-D-HP1 F2/3 ° 0
_ AME | ; . LSH-G/F16
HME-G Model: Linear Slide Hand F2/3S @ [ J
HMFB | @Rubber cover : Chloroprene rubber LSH-G/F20 F2/3[] [ [ ]
HFP | @Bore size : 06 F2/3S ) )
FH500 | @Actuation : Double acting F2/3H-PH-PV - [
~ HBL | @Finger : Basic LSH-G/F25 F2/3V o o
% @®Grip center reference, ‘R F2/3S [ [
~ HpL | _ high precision positioning hole F2/3[] ([ J o
" HJD | @ switch model No. : Proximity F2H, lead wire 1 m LSH-G/F32 F2/3S [} [}
BHE | ®Switch quantity 02 T2/3[] - o
1524 CKD



Internal structure and parts list

LSH'G I LSH'F Series

Internal structure and parts list

@ LSH-G06 / LSH-F06

©

Parts list

Part name EE

Finger

Stainless steel

Cross-section A-A

@ LSH-G10 to G25 / LSH-F10 to F25

i

®,

|

NN
%

B part 220, 25, 32

i
i

R

T

1l

il

|~ ——

| No. [Part name _____[Material ________|

Cushion rubber Urethane rubber

Linear guide

Stainless steel

Coil spring Piano wire Single acting C

LCM
LCR
LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C31JSC4
USSD
UFCD
usc

Chuk
MecHnd/Chuk
| ShkAbs
kS
FK

SpdContr

Rubber cover

LSH-F : Fluori

LSH-G : Chloroprene

ne

Piston packing Nitrile rubber

Lever

Stainless steel

Coil spring Piano wire Single acting S

Fulcrum axis

Steel

O-ring Nitrile rubber

Body

Aluminum alloy

C-snap ring Steel

Piston rod

Stainless steel

Pan head machine screw |Stainless steel

Ending
LSH

FH100
BSA2

BHABHG

0|V~ W (N

Spring bracket

Aluminum alloy

Plug Stainless steel Single acting C

©

Magnet

Plug Stainless steel Single acting S

10

Piston

Aluminum alloy

C-snap ring Stainless steel

1

Head cover

Aluminum alloy

Hexagon socket head cap screw |Stainless steel 232 is steel

12

Operation shaft

Steel alloy

Pin Steel

LHA
LHAG
HAP

HKP
HCP
HGP

13

CRring

Stainless steel

Hexagon socket set screw | Stainless steel

14

Cap

Stainless steel

Rod metal Aluminum alloy

15

Rod packing

Nitrile rubber

Repair parts list

Bore
size

26

Cannot be disassembled

Repair part
No.

Rubber cover (part No. 3) Rail plate kit No.

LSH-G Chloroprene

LSH-GO6K

LSH-F Fluorine  For F-switch For T-switch

LSH-FO6K LSH-RPF-06-HP

210

LSH-10K-HP

©000

216

LSH-16K-HP

LSH-G10K

LSH-F10K LSH-RPF-10-HP

LSH-G16K

LSH-F16K LSH-RPF-16-HP Rail plate small

220

LSH-20K-HP

225

LSH-25K-HP

00

232

LSH-32K-HP

LSH-G20K

LSH-F20K LSH-RPF-20-HP screw

LSH-G25K

LSH-F25K LSH-RPF-25-HP

LSH-G32K

LSH-F32K LSH-RPF-32-HP | LSH-RPT-32-HP

HLF2
HLAHLB
HLAGHLBG
HLC

HLD
HMF
HMF-G
HMFB

HFP
FH500
HBL

HJL
HMD
HDL

HJD
BHE

CKD

1525



LSH'G / LSH'F Series

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd(Chuk
ShkAbs
FJ
FK

Dimensions (bore size: @6)

@ LSH-G06, LSH-F06

(14)

(32

20
2+1
[
04
[

2.5 2-M2depth 1.8

| For mounting rail plate

Y e

.

L o

=
[se]

-—

2-M2 depth 1.8
For mounting rail plate

A arrow view

12

2-M3 x 0.5 through
Pilot hole 2.6 through

©
N
@7H8 depth 1.5

2-M3 x 0.5
depth 4.5

4.5

3.5

54

4-M2.5 x 0.45 through

2-M3 port
Ré;p?
e d
N

0
0.
o
4
N
74

P
B

w
o
=

@ LSH-G06*1R / L, LSH-F06*1R / L

40.5+0.025

-

2-g2H7 depth 2.5

—

025

SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1526

4.2+0.
8.4+0.0

o2

— ||

]

*2: Pin holes are machined on surface R for
LSH-G06*1R and L for LSH-G06*1L.
Refer to page 1567 for the base line.

CKD

18

WA

A
15
20

O

Surface L

Surface R

mounting tap

@ With switch, rail assembly

Lo o

Fo—--

.
i —
L
|l

—{ T[]
U

16

o
5

*3: Refer to Page 1577 for cylinder switch precautions.
*4: Use fittings with an outer diameter of @9 or less to prevent them from interfering with

each other.

53
10£0.05

*1: Do not fix the body using a rail plate

-8




LSH'G I LSH'F Series

Dimensions

Dimensions (bore size: ¢10) tgg

LCG

@ LSH-G10, LSH-F10 o

LCX

2 ST™

—_———] STG
< STSISTL
— L | F STR2

UCA2
2-M3 x 0.5 depth 6 ULK*

JSKIM2
JSG
4-M3 x 0.5 depth 5.5 JSC31USC4
*2) Pilot hole 2.6 through 2-¢2 H9 (+g_025) depth 3 5.2+0.02 W
25 8M2x04depth1.8 2-M3 x0.5depth 6 |UFCD
27.5 For mounting rail plate USC
UB
: I [JSB3___
= 1 © LMB
4] X j/ LML
A HCM
HCA
© LBC
15 5.2£0.02 CAC4
Surface L Surface R |UCAC2
5116.4+0.05[ PurMace R CACN
UCAC-N

|RCS2
4M2.5%045through M3 % 0.5 (closed port) RCC2

B e PoC
¢ C OI L

(21)

°s

7.6+0.02

NS
\4-01
K

Res

— ]

18
23

(40)
15.2732
11257

23

6£0.02

B11H9 (*3%%%) depth 2

57

05

<

d hl MCP

3157 kS . ) ) . GLC
g \.M3 x 0.5 (open port) 1: Do not fix the body using a rail plate MEC
- mounting tap —_—
19 *2: For switch side/rail mounting, the | 555
through hole cannot be used. IRRC_

GRC

RV3*
NHS

HRL
LN

@® LSH-G10*1R /L, LSH-F10*1R /L @ With switch, rail assembly

Chuk

4320.025 2-g2 H7 ('3°") depth 3 145 Mechnd Chuk

ShkAbs

-I FJ

PR

SpdContr
Ending
LSH-HP

i LSH
FH100
BSA2
*3: Pin holes are machined on surface R for BHABHG
LSH-G10*1R and L for LSH-G10*1L. LHA
Refer to page 1567 for the base line. LHAG
HAP
HKP
—H & HCP
oo === HGP
J é HLF2
HLAHLB
HLAGHLBG
HLC
HLD
' ) ) HMF
*4: Refer to page 1577 for cylinder switch precautions. "HMFG
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

CKD 1527

025

7.6+0.

| Se—

(@) (@]
10 [0]

% | ®

——1

15.2+0.01
16
I
oS &

A
P —




LSH'G / LSH'F Series

LCM
LCR

Dimensions (bore size: ¢16)

LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB

@ LSH-G16, LSH-F16

LML
HCM

HCA
LBC

A
WY,

CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
__ ShkAbs |
R
FK
SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1528

(29.6)

Va
~

30

T

D
pr—— N
———— -

6%
| R

A

4-M4 x 0.7 depth 8
*2) Pilot hole 3.4 through

0
0.

25

31

j2—M4 % 0.7 depth 4.5

2-93 HY (0% depth 3 |

8-M2 x 0.4 depth 1.8
For mounting rail plate

(51)
20.9'%2
14.95,

-of |

4-M3 x 0.5 through

53.310.025

15

vl

67.3

M5 x 0.8 (closed port)

VanY
A

9

i
o5
)

A~

™
—

o

@ LSH-G16*1R /L, LSH-F16*1R / L

2-63 H7 (*3%') depth 3

11+0.025

e

CKD

&

22+0.01

&

*3: Pin holes are machined on surface R for
LSH-G16*1R and L for LSH-G16*1L.
Refer to page 1567 for the base line.

oo
a

M5 x 0.8 (open port)

217 H9 (*3%) depth 2

6.5+0.02

2-M4 x 0.7 depth 8

11+0.02

ik

22
30.6

)

)

1+0.02

Surface L
—_—

i
15

23.6+0.05

Surface R
|Qurace )

*1: Do not fix the body using a rail plate
mounting tap

*2: For switch side/rail mounting, the
through hole cannot be used.

@ With switch, rail assembly

35.8

0.1

r

®

1

|_AAT T
|

16

*4: Refer to page 1577 for cylinder switch precautions.

e

oN\To




Dimensions (bore size: 320)

LSH'G I LSH'F Series

Dimensions

LCM
LCR

@ LSH-G20, LSH-F20

35

A4

f6o-6
| R

(34.6)

\S=—————
Py

18.6

4-M5 x 0.8 depth 10
*2) Pilot hole 4.3 through

25 N
39 7\ &-M2

G
3 e
#O

(66)

&

16.3.0%

453

Fan Y
A =g

A
&

20

29

43.5

84.8

4-M4 x 0.7 through

M5 x 0.8 (clos

o

O

Fan Y
2N

L
w
—

N
>

Van

12 005

@ LSH-G20*1R / L, LSH-F20*1R / L

68.3+0.025

16.8+0.025

33.6+0.01

2-g4 H7 (*3°%?) depth 4

*3: Pin holes are machined on surface R for
LSH-G20*1R and L for LSH-G20*1L.
Refer to page 1567 for the base line.

10\ M5 % 0
|

23

@ With switch, rail assembly

: 2-M5 x 0.8 depth 8

2-04 HO (3% depth 4

x 0.4 depth 1.8

For mounting rail plate

@21 H9 (3%2) depth 3|

ed port)

.8 (open port)

43.8

0.1

> &

—
l_

JE‘T?LQI

[6-o
| R

i

*4: Refer to page 1577 for cylinder switch precautions.

Surface L
—_—

*1:

*2:

0.02

+l

16.8

Do not fix the body using a rail plate

7.5%0.02

LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C31JSC4
USSD

2-M5 x 0.8 depth 10 | UFCD

>y

42

o

16.8£0.02

18 N7.5£0.02

27.6£0.05| Surface R

mounting tap LU S
For switch side mounting, the through 1BBS
hole cannot be used.

¢f%ie\\e
>\ o

CKD

usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC

RRC
GRC
RV3*

NHS
HRL

LN

Chuk
MecHnd/Chuk
| ShkAbs
kS
FK

SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1529




LSH'G / LSH'F Series

LCM
LCR
LCG
LCW

LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC

Dimensions (bore size: @25)

CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd(Chuk
ShkAbs
FJ
FK

SpdContr
Ending
LSH-HP

LSH
FH100

84.6+0.025

4-M5 x 0.8 through

@ LSH-G25, LSH-F25

B

(41.6)

4-M6 x 1.0 depth 12

*2) Pilot hole 5.1 through

(82)

1044

+2.5
0.2

33.3%:

2-M6 x 1.0 depth 10

2-04 HO (3%) depth 4 |
8-M2 x 0.4 depth 1.8

.02

10+0

For mounting rail plate

2-M6 x 1.0 depth 12

19.35s
=~
+i+

1

©
™

o
O

+
2

o
<

40
52

218002

226 HI (*3°?) depth 3.5 J|[¥

O
<L

re

21.8+0.025

12 805

25

30

53

10£0.02

102.7

2

Surface L

2

Surface R

33.6£0.05

M5 x 0.8 (closed port)

Y

!

o

— o
Ni
é

@ LSH-G25*1R / L, LSH-F25*1R / L

-+

BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD

BHE

1530

%
o

&

REY

<

43.6+0.01

CKD

2-04 H7 (3°2) depth 4

*3: Positioning holes are machined on surface R for
LSH-G25*1R and L for LSH-G25*1L.
Refer to page 1567 for the base line.

M5 x 0.8 (open port)

*1: Do not fix the body using a rail plate
mounting tap

*2: For switch side mounting, the through
hole cannot be used.

@ With switch, rail assembly

23.1

<‘1_6>
I

*4: Refer to page 1577 for cylinder switch precautions.

Tax

e&JQ




Dimensions (bore size: 32)

LSH'G I LSH'F Series

Dimensions

LCM
LCR

@ LSH-G32, LSH-F32

33

FanY
A7

(51)

[6 o
2@

4-M6 x 1.0 depth 13
Note 2) Pilot hole g5.1 through

—
—
]

129,

2-M6 x 1.0 depth 10

22

12.5

»»3 rae

>3 rae

+2.5
0

48
2605 ‘

(109)

= ra

= ra

LA

8-M2 x 0.4 depth 2
For mounting a rail plate

e

il

29

74

40

50.5

113

4-M6 x 1.0 through

2-¢5 H9 ('3%) depth 5

1240.02

2-M6 x 1.0 depth 13

LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C31JSC4
USSD
UFCD
usc

23+0.02

34 H9 (0°2) depth 1.5

M5 x 0.8 (closed port)

o
A
o
A

16905

@ LSH-G32D1R/L, LSH-F32D1R/L

90+0.025

23+0.025

N

(0]

4
+

46+0.01

(0]

©
2
+
<

%
]

T

=

M5 x 0.8 (open port)

2
a]

\kZL
|

46

23£0.02
60

1240.02

2

[}

40+£0.05

*1: Do not fix the body
using a rail plate mounting tap

*2: Positioning holes are machined on surface R for
LSH-G32D1R and L for LSH-G32D1L.
Refer to page 1567 for the base line.

2-5 H7 (3**) depth 5

@ With F-switch, rail mounting

0.1

N

6.3

24.8

LEye

X

*3: Refer to page 1577 for cylinder switch precautions.

@ With T-switch, rail mounting

50.8

O

T

°0

uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
| ShkAbs
kS
FK

SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG

24.8

S

CKD

HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1531




LCM
LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD

Specifications

Bore size

mm

Linear Slide Hand long stroke Double acting type/Single acting type

LSHL-A series

@ Operating stroke: 8, 12, 18, 22 mm

Double acting

type

Single acting
(normally open)

Single acting
(normally closed)

B I ey

210

216

220

RoHS)

225

Actuation

Double acting/single acting (normally open/normally closed)

UFCD
usc
uB

Working fluid

C

ompressed air

Max. working pressure

MPa

0.7

JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC

Min. working
pressure

Double acting

0.2

0.1

MPa

Single acting

0.35

0.25

Port size

M3

M5

Ambient temperature

°C

-10 to 60 (no freezing)

Operating stroke

mm

12

| 18

22

Repeatability

mm

+0.01

Weight Double acting
(Single acting) kg

Finger OP: 1,2, 3

Finger OP: 4

0.065 (0.075)

0.155 (0.165)

0.315 (0.335)

0.54 (0.585)

0.16 (0.17)

0.32 (0.34)

0.545 (0.59)

Lubrication

Not required

SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
Mecknd(Chuk
ShkAbs
FJ
FK

SpdContr
Ending
LSH-HP

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500

Gripping force

Switch specifications

Applications

Proximity 2-wire

Dedicated for
programmable controller

For programmable
controller, relay

Proximity 3-wire

Proximity 2-wire

210

Unit: N

Double acting

17

Closed side

11

216

45

34

220

66

42

225

210

104

216

220

225

210

Single acting (normally open)

Closed side

7
27
33
50

65
A

13

Single acting (normally closed)

216

38

220

57

225

85

* At supply pressure of 0.5 MPa, £ = 20 mm, stroke center

*1: Avoid gripping the workpiece with single acting spring force
as much as possible. The gripping force may become
unstable, leading to operation failure.

Proximity 3-wire

. _F2s | ___F3 | _ F2HF2V F3H/F3V F3PH/F3PV

Dedicated for
programmable controller

For programmable controller, relay

Output method

NPN output

NPN output

PNP output

Power supply voltage

10to 28 VDC

10 to 28 VDC

4.5

to 28 VDC

Load voltage/current

10 to 30 VDC
5 to 20mA

30 VDC,
50 mA or less

10 to 30 VD

5to 20mA

Cc

30 VDC, 50 mA or less

Indicator lamp

LED (Lit when ON)

Yellow LED (Lit when ON)

HBL
HJL
HMD
HDL
HJD

BHE

1532

Leakage current

1 mAorless

10 pAor less

1 mAorles

s |

10 yAor less

Shock resistance

980m/s’

Weight g

1m:10 3m:29

*1: The F-switch uses a bend-resistant lead wire by default.

CKD



How to order

Without switch (built-in magnet for switch)

(LSHL)-(A (10(D (1)

With switch (built-in magnet for switch

HP1

LS H L'A Series

How to order

O@Rubber cover

@Bore size

@Actuation

@Finger

@Grip cen

ter reference,

high precision positioning hole

Grip center reference, high precision
positioning hole position diagram

@ switch model No.

L R
Positioning hole Positioning hole
b\ ° °
N o N
© O
[0 o ' ' o ol
° o o °
o o o o
Surface L Piping Piping Surface R i
surface | surface @Swnch
quantity

Refer to the Dimensions (page 1535 to 1538) and page 1567 for

details.

How to order switch
(sw )-( F2H* )
v

Switch model No.
(Item @ above)

[Example of model No.]
LSHL-A10D1R-N-HP1

Model: Linear Slide Hand, long stroke
ORubber cover

®Bore size 1210
@Actuation : Double acting
®Finger : Basic

@Grip center reference, ‘R

high precision positioning hole
@Switch model No.

: Without rubber cover

: Without switch or rail plate

LCM
LCR
LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
Code Description ULK"
@ Rubber cover JSKIM2
A Without rubber cover JSG
JSC3JSC4
® Bore size (mm) USSD
10 210 UFCD
16 216 blgci
20 220 W
25 225 MB
@ Actuatio (LML
D Double actin [HoM
9 HCA
S Single acting/normally open LBC
C Single acting/normally closed CAC4
. UCAC2
@ Finger CACN
1 Basic UCACN
2 Side tap RCS2
3 Through hole |RCC2
PCC
4 F Rl S
at SHC
@ Grip center reference, high precision positioning hole JIY¢S
N None |GLC
L MFC
Refer to the figure at left. BBS
R RRC
@ Switch model No. %
Blank Without switch, rail plate attached 'NAS
N Without switch or rail plate "HRL
Straight L-shaped \oltage . Lead LN
lead wire lead wire Contct AC |DC Indicator wire
- F2S* [ ) 2-wire | | Chuk
- F3s* g ® | ., o L 3wie 729:&92“
F2H* F2v* E ®| | 2wie R
F3H* F3v* a ( ] 3-wire | [Fk
F3PH* F3PV* [ ) 3-wire | | SpdContr
* Lead wire length [Ending
Blank 1 m (standard)
LSH-HP
3 m (option) LSH_
© Switch quantity (FH100
R 1 on open side [
- BHABHG
H 1 on closed side LHA
D 2 LHAG
*1: When selecting “With switch”, a rail plate is attached. HAP
*2: Refer to page 1578 for cylinder switch precautions. HKP
HCP
HGP
Switch mounting availability table HLFZ
Model No. Switch model No.|Side mounting|Rail mounting RFTIETER
F2/3[] [ ] [ HLC
LSHL-A10
F2/3S [ ) (] 'HLD
F2/30] e o T
LSHL-A16 F2/35 ° ° :',\\AAI;S
LSHLA20 F2/3] [ J [ J HEP
F2/3S [ (] FH500
F2/3] e [ ] HBL
LSHL-A2S F2/3S o ® HJL
HMD
HDL
HJD
BHE
CKD 3



LS H L'A Series

LCM
LCR

Internal structure and parts list

LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
__ ShkAbs |
R
FK
SpdContr

Ending
__LSHHP |

@ LSHL-A10 to 25

° o

i’

A\

Cross-section A-A

9/

@ e

()

B part 220, 25

Parts list
IMEE@—M_

Finger

@,//Q

Stainless steel

14

Part name

Rod packing

Nitrile rubber

LSH

Linear guide

Stainless steel

15

Cushion rubber

Urethane rubber

FH100
BSA2

Lever

Stainless steel

16

Cylindrical spring

Piano wire

Single acting C

BHABHG

Fulcrum axis

Steel

17

Piston packing

Nitrile rubber

LHA

Body

Aluminum alloy

18

Cylindrical spring

Piano wire

Single acting S

LHAG

Piston rod

Stainless steel

19

O-ring

Nitrile rubber

HAP
HKP

Spring bracket

Aluminum alloy

20

C-snap ring

Stainless steel

HCP

(N[O~ |W(IN

Magnet

21

Hexagon socket set screw

Stainless steel

HGP

Piston

Aluminum alloy

22

Hexagon socket head cap screw

Stainless steel

HLF2

Head cover

Aluminum alloy

23

Pin

Steel

HLAHLB

11

Operation shaft

Steel alloy

24

Plug

Stainless steel

Single acting C

HLAGHLBG

12

CRring

Stainless steel

25

Plug

Stainless steel

Single acting S

HLC
HLD

13

Cap

Stainless steel

26

Rod metal

Aluminum alloy

HMF
HMF-G
HMFB

Repair parts list

210 LSHL-10K-HP
216 LSHL-16K-HP
220 LSHL-20K-HP
2325 LSHL-25K-HP

CKD

HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1534

Rail plate kit No.

For double acting For single acting

LSHL-RPF-10-HP LSHL-RPF2-10-HP
LSHL-RPF-16-HP
LSHL-RPF-20-HP
LSHL-RPF-25-HP

Repair part No.

o000
Q00

Rail plate small screw




Dimensions (bore size: ¢10)

LS H L'A Series

Dimensions

@ LSHL-A1

0*1N

29 (39)

= a—

&

~
—
=

2-M3 x 0.5 depth 5.5

4-M3 x 0.5 depth 5.5
*3) pilot through hole 2.6

os

<

25

dl
\l

1N
114

@ LSHL-A1

29.5 (39.5)

8-M2 x 0.4 depth 1.8
For mounting rail plate

i
F %

% ¥ g

©

41
19.2"32

1125,

-5

04?7 a 4?7

—

a
AV

25 (35)

37.8 (47.8)

57 (67)

4-M25 % 045 through M3 * 0.5

(closed port)

J_}f&

o
XN
o

4

w
o
=

i

1_5

o
—

Fan

L
J\

0*2N

4-M2.5 x 0.45 through

@ LSHL-A1

43 (35) £0.025

0™R/L

-
l

7.6+0.025

7
|-
21(31)

M3 x 0.5 (open port)

@ LSHL-A10*3N

4-92.9 through

2-2 H7 (*3°") depth 3

5 &

15.2+0.01

OFQA :

72

*4: Pin holes are machined on surface R for
LSHL-A10D1R and L for LSHL-A10D1L.
Refer to page 1567 for the base line.

*5: The dimensions in parentheses are the
dimensions for LSHL-A10%4.

2-62 HO (9%%%) depth 3

5.2+0.02

7.6+0.02

2-M3 x 0.5 depth 6

18
23

{
)

4

W

P

[
i

@11 HY (*3%%) depth 2

1279

7.6£0.02

5.2+0.02

Surface L

16.4£0.05

*1: Do not fix the body using a rail plate mounting tap

Surface R

*2: () are the dimensions during single action.
*3: For switch side/rail mounting, the through hole

cannot be used.

@ LSHL-A10*4N

4-M2.5 x 0.45 depth 4.7

2

-

2H9

]

14.8
1.9

8.1

9.4.33

.
=3y !

<1 T

)

4.95

(4.3)

-

vio|

49 (59)

@ With switch, rail assembly

34.3 (44.3)

0.1

q A

(@)

(@]

&r

*6: () are the dimensions during single action.
*7: Refer to page 1578 for cylinder switch precautions.

14.5

16

]
[

CKD

LCM
LCR
LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
| ShkAbs
kS
FK

SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1535



LS H L'A Series

LCM

LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
usc
uB

Dimensions (bore size: ¢16)

@ LSHL-A16*1N

23.2

Al

q

JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN
Chuk
Mecknd(Chuk
ShkAbs
FJ

I
|4

(|
[ |

4-M3 x 0.5 through

@ LSHL-A16*2N

53
26.9

36(41)

D
| I—

16

4-M4 x 0.7 depth 8
*3) pilot through hole 3.4

o3

0

2-M4 x 0.7 depth 4.5

25

2-¢3 H9 (*5°%) depth 3
8-M2 x 0.4 depth 1.8

For mounting rail plate

+2.2
0

14.99;

viv
— N
&

| @)

o
=

31(36)

452 (50.2)

70 (75)

M5 x 0.8 (closed port)

o
“~

PV

9

e
°%
[ee)

4|7

™
—

5
a

Van

4-M3 x 0.5 through

25

o ©
7?,

25

FK

b
o ,@,

SpdContr
Ending
LSH-HP

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD

BHE

1536

L=
Pl
|

F

.,_
|
[

@ LSHL-A16**R / L

56 (47) £0.025

25 (30 |

8

@ LSHL-A16*3N

4-3.4 through

217 HY (*3°°) depth 2 ql_f

M5 x 0.8 (open port)

o]

11+0.02

Rl

22+0.01

O

*4: Pin holes are machined on surface R for
LSHL-A16D1R and L for LSHL-A16D1L.
Refer to page 1567 for the base line.

*5: The dimensions in parentheses are the
dimensions for LSHL-A16*4.

CKD

2-¢3 H7 (‘") depth 3
Yol

6.5+0.02

11£0.02
]

2-M4 x 0.7 depth 8

&

22

w

30.6

15

=]

11+0.02

6.5+0.02

Surface L

23.6+0.05

Surface R

*1: Do not fix the body using a rail plate mounting tap
*2: () are the dimensions during single action.
*3: For switch side mounting, the through hole

cannot be used.

@ LSHL-A16*4N

4-M3 x 0.5 depth 6

2.5

2.5H9

18.6
3
9

13.47°

e
®
=2
N
)

15.8

61 (66)

@ With switch, rail assembly

38.8

0.1

JL

i

*6: Refer to page 1578 for cylinder switch precautions.

ﬁ’
_@\&J@_




Dimensions (bore size: @20)

LS H L'A Series

Dimensions

@ LSHL-A20*1N

27.2

N ! A
P 1Y

4-M4 x 0.7 through

@ LSHL-A20*2N

43 (49)

Para

Y Y l®

4-M5 x 0.8 depth 10

18.6

2-M5 x 0.8 depth 8

-5 *3) pilot through hole 4.3

[ee]

70

+2.4
0

34.3

25
44—\

8-M2 x 0.4 depth 1.8
For mounting rail plate

log

11

3

—n

o
Fan
¢

30

4-M4 x 0.7 through

9.5

36 (42)
58 (64)

90 (96)

M5 x 0

o
2N

.8 (closed port)

o

<
O
G

o5

I

N

Van

’y

12 305

@ LSHL-A20*3N

{6 o

4
R
N
>
"

@ LSHL-A20**R /L
73.5 (61.5) £0.025

16.8+0.025

33.6+0.01

2-g4 H7 (*0°'2) depth 4

*4: Pin holes are machined on surface R for
LSHL-A20D1R and L for LSHL-A20D1L.
Refer to page 1567 for the base line.

*5: The dimensions in parentheses are the

dimensions for LSHL-A20*4.

22

30 (36)

4-94.5 through

M5 x 0.8 (open port)

2-4 H9 (*3%) depth 4
-

16.8+0.02

7.5+£0.02

2-M5 x 0.8 depth 10

I

221 H9 (*3°2) depth 3

Surface L

R v

3R
42

A
-lk

Van )

18

16.8+0.02

27.6+0.05

*1: Do not fix the body using a rail plate mounting tap
*2: () are the dimensions during single action.
*3: For switch side mounting, the through hole

cannot be used.

@ LSHL-A20*4N

4-M4 x 0.7 depth 8

B

24
3.95
12

19.6 %7

LCM
LCR
LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk

MecHnd/Chuk

1.6+0.2

8.45

(8.7)

@ With switch, rail assembly

48.8

0.1

kL

)

<z
-
®

78 (84)

N
©
o

161}

*6: Refer to page 1578 for cylinder switch precautions.

CKD

e
SN\ &

ShkAbs
FJ
PR
SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1537



LS H L'A Series

% Dimensions (bore size: @25)

LCG *
oW @ LSHL-A25*1N
LCX
STM
STG
STSISTL
STR2
UCA2

% 332 N 4-M6 x 1.0 depth 12
: ' Sk 10£0.02
—56 | 22| *3) pilot through hole 5.1 25 20 HO (95) dopth 4
— pu - 2-M6 x 1.0 depth 12
JSC31USC4 455 8-M2 x 0.4 depth 1.8 <-Vb * 1.V depth 12
USSD BE — For mounting rail plate
uB

JSB3
~ LMB | —H T ‘ [ o & 226 H9 (*392) depth 3.5 b€
LML Bl 1 40 (50)
HCM -
TN 25 " 66.9 (76.9) 10+0.02
LBC 106 (116) 22
CAC4 M5 x 0.8 (closed port) Surface L |33.6£0.05 | Surface R
UCAC2 4-M5 x 0.8 through
CACN red
UCAC-N —
RCS2 re

RCC2 j\g‘ M5 x 0.8 (open port) *1: Do not fix the body using a rail plate mounting tap
PCC - 5 *2: () are the dimensions during single action.
SHC 33 (43) *3: For switch side mounting, the through hole
MCP cannot be used.
GLC
MFC
BBS
RRC
~GRC | @ LSHL-A25*2N @ LSHL-A25*3N @ LSHL-A25*4N
__Rv3" | 4-M5 x 0.8 depth 10
_NHS | 4-M5 x 0.8 through 4
HRL — g
LN Fa
4-25.5 through )
Chuk ©

(@)
MecHnd/Chuk + <] g @ o~ i[
+ D
(@)

48 (58)

VanY

2-M6 x 1.0 depth 10

Fan Y

d
h

21.810.02

52

usc

YOOl | L N
UFCD ] 1 [ele gL

84
41.32°
19.35s
4|+
4
‘ 1
|
36
21.8
40

Ih
4

o

<
o
<

N

4H9

-

28.6
4.9
14

©

24 '*0249
1
L|

|
\
i
i
i
9.9
0

el

Vary
o)

_ NRUrTALdh | D |
ShkAbs |
FJ
__FK_ | © g
SpdContr L -

T Ending | 612 El
Ending (10.5) d
241
LSH-HP

LSH 91 (101)

100 @ LSHL-A25"R /L @ With switch, rail assembly

_ BHABHG | 87.9 (72.9) £0.025
LHA
LHAG
HAP
HKP
HCP > 7
HGP e N
HLF2
HLAHLB O O
HLAGHLBG 2-04 H7 (3°7) depth 4
HLC
HLD
HMF

Ol4isfO
o

o 512 =

E—
—

21.8+0.025

JL

43.6+0.01

i
o o 8
&

*4: Positioning holes are machined on surface R for
— LSHL-A25D1R and L for LSHL-A25D1L.
_ HMFG | Refer to page 1567 for the base line.

HMFB *5: The dimensions in parentheses are the dimensions

~ HFP | for LSHL-A25%4.
FH500

HBL
HJL
HMD
HDL
HJD
BHE

1538 CKD

*6: Refer to page 1578 for cylinder switch precautions.




MEMO

LCM
LCR
LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

|Chuk
| ShkAbs
I
FK

SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HAGHLS
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

CKD 1539




LCM
LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD

Specifications

Bore size mm

Linear Slide Hand, long stroke double acting with rubber cover

LSHL-G / LSHL-F series

@ Operating stroke: 8, 12, 18 mm

Double acting

B

210

216

RoHS)

220

Actuation

Double acting

UFCD
usc
uB

Working fluid

Compressed air

Max. working pressure

0.7

JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N

Min. working pressure

0.2

0.1

Port size

M3

M5

Ambient temperature

-10 to 60°C (no freezing)

Operating stroke

| 12

Repeatability

+0.01

Weight

| 0.18

Lubrication

Not required

RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd(Chuk
ShkAbs
FJ
FK

Gripping force

Unit: N

Bore size (mm) Double acting
Closed side

210 17

11

216 45

34

220 66

42

SpdContr
Ending
LSH-HP

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC

A4

Switch specifications

* At supply pressure of 0.5 MPa, £ = 20 mm, stroke center

Proximity 2-wire Proximity 3-wire Proximity 2-wire
F2H | F2v F3H/F3V F3PH / F3PV

Dedicated for

Applications programmable controller

For programmable
controller, relay

Dedicated for
programmable controller

Proximity 3-wire

For programmable
controller, relay

Output method -

NPN output

NPN output PNP output

HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL

Power supply voltage -

10t0 28 VDC

- 10 to 28 VDC

4.5t0 28 VDC

Load voltage /
current

10 to 30 VDC
5to 20 mA

30 VDC,
50 mA or less

10 to 30 VDC

5to 20 mA 30 VDC, 50 mA or less

Indicator lamp

LED (Lit when ON)

Yellow LED (Lit when ON)

Leakage current

1 mAorless | 10 pAor less

1 mAor less | 10 pAorless

Impact resistance

980 m/ s*

Weight

9

1m:10 3 m:29

HMD
HDL
HJD

BHE

1540

*1: The F-switch uses a bend-resistant lead wire by default.

CKD



How to order

Without switch (built-in magnet for switch)

HP1

(LSHL)-(6 (10(D (1)

With switch (built-in magnet for switch)

ORubber cover

@Bore size

@Actuation

@Finger

@Grip cen

ter referen

ce,

high precision positioning hole

Grip center reference,

@ switch model No.

high precision positioning hole position diagram

L R
Positioning hole Positioning hole
‘\\19 ¢ ¢ \éb\
; ol |19
Fotltan ;
D b1
D | |
Surface L Piping Piping Surface R
surface | surface

Refer to the Dimensions (pages 1543 to 1545) and page 1567 for

details.
How to order switch
(swW )-( F2H* )
v

Switch model No.
(Item @ above)

[Example of model No.]
LSHL-G10D1R-F2H-D-HP1

Model: Linear Slide Hand, long stroke
@Rubber cover : Chloroprene rubber

@®Bore size 1210
@Actuation : Double acting
®Finger : Basic

@Grip center reference, high : R

precision positioning hole
@Sswitch model No.
@©switch quantity 12

: Proximity F2H, lead wire 1 m

@©switch quantity

LCM
LCR
LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
Code Description ULK"
@ Rubber cover JSKIM2
G Chloroprene rubber JSG
JSC3JSC4
F Fl Fraa——
uoro rubber USSD
@ Bore size (mm) UFCD
10 210 BSC
16 216 JSB3
20 220 MB
® Actuation 7';:\(’!";/'
D Double acting HCA
® Finger LBC
" CAC4
1 B RS20 \00 B
asie UCAC2
@ Grip center reference, high precision positioning hole NN
N None | UCACN
L RCS2
Refer to the figure at left. RCC2
R PCC
@ Switch model No. Yo
Blank Without switch, rail plate attached Gl
N Without switch or rail plate '‘MEC
Straight L-shaped \oltage ) Lead BBS
lead wire lead wire Conlad AC |DC LT 7 wire RRC
F2S* F2s* ( ] 2-wire | | GRC
F3s* F3s* 2 e 3-wire | RV
S 1-color - NHS
F2H* F2v* X [ LED 2-wire | oo
F3H* F3v* o [ ) 3-wire | 'In
F3PH* F3PV* ( ] 3-wire
* Lead wire length Chuk
Blank |1 m (standard) | MectdChk
3 m ShkAbs
m (option) Fy
® Switch quantity FK
R 1 on open side 7Spd0?ntr
H 1 on closed side [Ending
D 2 LSH-HP
*1: When selecting “With switch”, a rail plate is attached. LSH
*2: Refer to page 1579 for cylinder switch precautions. (FH100
BSAZ
(BHABHG
LHA
Switch mounting availability table RS
Model No. Switch model No.|Side mounting|Side mounting JizINz
F2/3[] [ J [ J HCP
LSHL-G/F10 mEs
F2/3S o o :flfT
LSHL-G/F16 F2/3] L L4 HLAHLB
F2/3S [ [ J THUGHES
F2/3[] [ [ J
LSHL-G/F20 HLC
F2/3S [ ] [ ] HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE
CKD 4



LSHL'G / LSHL'F Series

LCM
LCR

Internal structure diagram and parts list

LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*

JSKIM2
JSG

JSC3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB

@LSHL-G10 to G20 / LSHL-F10 to F20

i

TE

LML
HCM

HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS

RRC

{

GRC

{}4

{}4
® @ =]

RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
__ ShkAbs |
R
FK
SpdContr

Ending

LSH

\N

Parts list
PartNoPart name | Material —|Remarks

Finger

Stainless steel

13

Cross-section A-A

il

B part 220

CR ring

Stainless steel

FH100

Linear guide

Stainless steel

14

Cap

Stainless steel

BSA2
BHABHG

Rubber cover

LSHL-G : Chloroprene
LSHL-F : Fluorine

15

Rod packing

Nitrile rubber

LHA
LHAG

Lever

Stainless steel

16

Cushion rubber

Urethane rubber

HAP

Fulcrum axis

Steel

17

Piston packing

Nitrile rubber

HKP

Body

Aluminum alloy

18

O-ring

Nitrile rubber

HCP

Piston rod

Stainless steel

19

C-snap ring

Stainless steel

HGP

O[N] W [N|=

Spring bracket

Aluminum alloy

20

Hexagon socket head cap screw

Stainless steel

HLF2

(o]

Magnet

21

Pin

Steel

HLAHLB
HLAGHLBG

10

Piston

Aluminum alloy

22

Hexagon socket set screw

Stainless steel

HLC

11

Head cover

Aluminum alloy

23

Rod metal

Aluminum alloy

HLD

12

Operation shaft

Steel alloy

HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL

210

Consumable parts list

Bore size Kit No.
(mm )

LSHL-10K-HP

Consumable
parts No.

HMD

216

LSHL-16K-HP

0000

Rubber cover (part No. 3)
LSHL-G Chloroprene LSHL-F Fluorine

LSHL-G10K

LSHL-F10K

Rail plate
Kit No.

LSHL-RPF-10-HP

Rail plate

LSHL-G16K

LSHL-F16K

LSHL-RPF-16-HP

Small machine

HDL

220

LSHL-20K-HP

LSHL-G20K

000

LSHL-F20K

LSHL-RPF-20-HP

screw

HJD
BHE

1542

CKD



Dimensions (bore size: g10)

LSHL'G I LSHL'F Series

Dimensions

LCM
LCR

(23)

@ LSHL-G10D1N, LSHL-F10D1N

24

r—»
Y
—]
o ———
&

<
-
=

4-M3 x 0.5 depth 5.5

(48)
19.2'%2
11.23;

*2) pilot through hole 2.6

29.5

25

-
™\2-M3 x 0.5 depth 5.5

8-M2 x 0.4 depth 1.8
For mounting rail plate

Ml

46+0.025

o] ©
-] —

28

34

12

60

4-M2.5 x 0.45 through
M3 x 0.5 (closed port)

o
N

 N\=

]

7.6+0.02

5 °

—

< ©

15.240.01

o & ¢

L~

*3: Pin holes are machined on surface R for
LSHL-G10D1R and L for LSHL-G10D1L.

Refer to page 1567 for the base line.

M

=E

o

@ LSHL-G10D1R / L,LSHL-F10D1R / L

2-62 H7 ('§*") depth 3
[Te)

N
-y
7

21

@ With switch, rail assembly

[ N\

]

M3 x 0.5 (open port)

34.3

211 H9 (5°*°) depth 2

2-62 H9 ("3°*) depth 3 |

5.2+0.02

2-M3 x 0.5 depth 6

LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C31JSC4
USSD
UFCD
usc

02

7.610.

[
CH
o
A"

18
23

X
-L_l\\

7z}
0

Surface L

7.60.02

12 5.2+0.02
16.410.05| Surface R

*1: Do not fix the body using a rail plate

mounting tap

*2: For switch side/rail mounting, the through

hole cannot be used.

0.1

(@)

Q)

]

===

16

(][}
@18
A

*4: Refer to page 1579 for cylinder switch precautions.

CKD

uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
| ShkAbs
kS
FK

SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1543




LSHL'G / LSHL'F Series

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD

Dimensions (bore size: ¢16)

@ LSHL-G16D1N, LSHL-F16D1N

36

FanN
<

&
¢ ———

16

D

2-M4 x 0.7 depth 4.5

4-M4 x 0.7 depth 8
(30) _ *2) Pilot hole 3.4 through

usc

0
5.0

uB
JSB3
LMB
LML

34 25

8-M2 x 0.4 depth 1.8
For mounting rail plate

4
@

4 4

HCM

QAL
(55)
26.9'32
14.923;

HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd(Chuk
ShkAbs
FJ
FK

SpdContr
Ending
LSH-HP

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD

BHE

<
ﬂ“‘

A7

31

15 40.7

7

| o . i
J §
7

M5 x 0.8 (closed port)

4-M3 x 0.5 through

Van
J‘

r

o=1 1

™
—

© D

4 7 YN

M5 x 0.8 (open port)

@ LSHL-G16D1R / L, LSHL-F16D1R / L

63+0.025 2-3 H7 (*3°") depth 3

11£0.025

22+0.01

&
&

*3: Pin holes are machined on surface R for
LSHL-G16D1R and L for LSHL-G16D1L.
Refer to page 1567 for the base line.

1544 CKD

@ With switch, rail assembly

2-33 HO ("3°%) depth 3

6.5+0.02

217 HI ('6**°) depth 2 ey

2-M4 x 0.7 depth 8

11+0.02

Surface L | 23.6£0.05

o
N
N| <
o
Y
N
o
o
+
15 6.5+0.02
Surface R

*1: Do not fix the body

using a rail plate mounting tap
*2: For switch side mounting, the through

hole cannot be used.

,Q,

[ &
¢

,@,

16

*4: Refer to page 1579 for cylinder switch precautions.

i
AW




LSHL'G I LSHL'F Series

Dimensions

Dimensions (bore size: @20) tgg

@ LSHL-G20D1N, LSHL-F20D1N tg\(/;v
49 LCX

STM

STG
— © STS/STL
° g = © STR2
[ UCA2
2-M5 x 0.8 depth 8 ULK*
SKME
JSG

4-M5 x 0.8 depth 10 UssD
(37) *2) Pilot hole 4.3 through 2-g4 HI (*$%) depth 4

O

7.5£0.02 UFCD
2-M5 x 0.8 depth 10 | USC
N -

JSB3

(] b 1o L RU© LMB

: > S ABL LML

® HCM

HCA

LBC

CAC4

8-M2 x 0.4 depth 1.8
44 \ For mounting rail plate

16.8+0.02

+2.4
0

(72)
16.357
1
|
30

34.3
46

1] D o 221 H9 ('5°) depth 3 g

42 2; % cACa
2 57 UCAC2
18 N 7.50.02 | CAC-N

108 Surface L [27.6+0.05| Surface R [UCACN
urrace .oxU. urface RCS2

RCC2
PCC

M5 x 0.8 (closed port) SHC
4-M4 x 0.7 through MCP

[GLC
=T R ﬁi MFC
< 5 BBS
J\
51138 10 \M5 x 0.8 (open port) RRC
B *1: Do not fix the body GRC
using a rail plate mounting tap RV3*
*2: For switch side mounting, the through NHS
hole cannot be used. HRL

LN

16.8+0.02

&

Fany

0

v
Fan Y

<

o

35

Chuk
. . . MecHnd/Chuk
@ LSHL-G20D1R /L, LSHL-F20D1R/L @ With switch, rail assembly ShkAbs

FJ
FK
48.8 0.1 SpdContr
LSH

FH100
BSA2

& — g BHABHG
2-04 H7 (*3°?) depth 4 % LRA
LHAG
HAP
) . HKP
*3: Pin holes are machined on surface R for HCP
LSHL-G20D1R and L for LSHL-G20D1L.

) HGP
Refer to page 1567 for the base line. HLF2
HLAHLB

Sy (HAGHIBG
[6 6 HLC

© HLD
HMFE
(HMF-G
HMFB
(HFP
*4: Refer to page 1579 for cylinder switch precautions. FH500

HBL
HJL

HMD

HDL
HJD

BHE

CKD 1545

N
o
o

91.5+0.025

16.8+0.025

O
]
©
O
2

®
i

¢fri§\e

33.6+0.01

o N\S o




Linear Slide Hand with length measuring function, double acting
L
.‘ "

S =/ Series
LCM
LCR " ; .

—co | i @ Operating stroke: 4, 6, 10, 14 mm
LCW
LCX

s = i
STG
STS/STL
STR2
UCA2 e :

Ul Specifications

_JSG__| Bore size mm 210 216 220 225

% Actuation Double acting

~UFCD | Working fluid Compressed air

~usc | Max. working pressure MPa 0.7
UB Min. working pressure MPa 0.2 0.1 0.1 0.1
JSB3 | Port size M3 M5 M5 M5
LMB Operating stroke mm 4 6 10 14

LML | power supply voltage 24 VVDC £10%

% Current consumption 25 mAor less

~BC | Indicator lamp Green LED ON when power applied

" CAC4 | _Analog output When fingers are closed: 1 V; when opened: 5V ', connection load: 100 kQ or more
UCAC2 ) ... | Without correction adapter +3% F.S. or less (ambient temperature 25°C)

CAC-N Analog output linearity With correction adapter +0.5% F.S. or less (ambient temperature 25°C)

_JCACN] Repeatability of analog output +0.02mm or less
RCS2 P y g oulp (ambient temperature 25°C, no deformation or wear of actuator / jig)

~ RCCZ | "valid measured range length mm 4.5 | 6.5 | 10 | 14

% Impact resistance (sensor / amplifier section) 294 m /s’

T MCP | Vibration resistance (sensor / amplifier section) 10 to 55 Hz compound amplitude 1.5 mm, 2 hours per X, Y, Z direction
GLC Degree of protection (sensor / amplifier section) IEC standards IP65
MFC . - 10 to 60°C, 85% RH or less

—BBS | Ambient temperature, humidity (no freezing)

RRC Amplifier mounting position Side Front Side Front Side Front Side Front
__GRC | , Finger OP: 1, 2, 3 0.221 0.238 0.437 0.457 0.752 0.773
% Weight k9 e cer OP- 4 0-108 0.120 0.226 0.243 0.442 0.462 0.782 0.803
“HRL | Lubrication Not required

LN Note: Refer to page 1562 for the correction adapter. Unit: N

*1: There is output fluctuation of 1 mV / °C. _ Double acting
Bore size (mm) - -

— anpmg force Open side | Closed side

“F 216 45 34
FK 220 66 42
SpdContr 225 104 65

Wing *Supply pressure: 0.5 MPa, L = 20 mm, value at stroke center

1

LSH-HP ) ) L

LSH LVDT displacement sensor operation principle
_ FH100. o | @ y . o .

BSA2 When exciting the primary coil (P), induced voltage is

BHABHG o o generated in the two secondary coils (S1/ S2) by
_ LHA | | | electromagnetic induction. When the Hand is driven, the

LHAG — " . .

" HAP | core position changes and a difference in induced
HKP -~ voltage occurs between S1 and S2. This difference is
HCP ‘ used to output the position of the core as electric signals.
HGP [

HLF2 .

% Analog output characteristics

__HLC | S 5 &

_HLD | @ i LSHM-A25* S P S

~ HMF | g . ! IovN
HME-G 3 7 . : LSHM-A20* :

~ HMFB | 5 ; i
HFP % ! ! ! LSHM-A16*

FH500 8, b ! ! LSHM-A10* Secondary coil 1 Secondary coil 2

HBL £ 1 - | |
ST S S SN S S S S S

HJD *The analog output voltage at shipment is 1 V on the
— e | closed side and 5 V on the open side, with the port " ]
~ BHE | closed and pressurized. Primary coil "~

56 CKD




How to order

LS H M 'A Series

How to order

LCM
LCR
LCG
LCW
LCX
STM

Code

ORubber cover

Description

(A) Rubber cover
Without rubber cover

@Bore size

() Bore size (mm)

210

16

216

20

220

STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C31JSC4
USSD
UFCD

@Actuation

*1

(C) Actuation
Double acting

usc
uB
JSB3

OFinger

(D} Flnger Refer to the Dimensions for details.

Basic

Side tap

LMB
LML

HCM
HCA

Through hole

Flat

@ Amp mounting position / grip center

@ Amp mounting position / grip center reference, high precision positioning hole *1
Amp side / no positioning hole

reference, high precision positioning hole

Amp side / rear with finger below and piping right

Amp side / rear with finger below and piping left

B
C
D

Amp front / no positioning hole

Amp front / rear with finger below and piping right

LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP

@ Correction adapter option

(F ) Correctlon adapter option

Without correction adapter

A

Correction adapter attached

GLC
MFC
BBS
RRC

Amp mounting position / grip center reference, high precision positioning hole position diagram

LSHM-ALICI[ B

LSHM-ACCI[IC LSHM-ALICICIE

Positioning hole

Positioning hole Positioning hole

N

o o

[\
\ L
© <

o o o o

ERRIN

Piping

B surface
surface

TU T E
A Aid

]

Piping E surface

surface

Piping

C surface
surface

Refer to the Dimensions (pages 1550 to 1553) and page 1567 for details.

[Example of model No.]

LSHM-A10D2A-N-HP2

Model: Linear Slide Hand
ORubber cover

®Bore size

@®@Actuation

®Finger

GAmp mounting position / grip center

: Without rubber cover

12810

: Double acting

: Side tap

: Amp side / no positioning hole

reference, high precision positioning hole

GCorrection adapter option

: Without correction adapter

Plug contact array diagram

‘Without correction adapter

(4) Not in use
(3) Power supply 0V
(2) 1to 5V output

(1) Power supply +24 V

-Correction adapter attached

M8 socket (IN side) pin array
(1) +24 VDC (3)com
(2) 1to 5V output (4) Not in use
M8 plug (OUT side) pin array
3) COM (1) +24 VDC
(4) Not in use ) 1to 5V output

CKD

GRC
RV3*
NHS
HRL

LN

Chuk
MecHnd/Chuk
ShkAbs

FJ
FK

[SpdConr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1547



LS H M 'A Series

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB

Internal structure and parts list

@ Amplifier side mounting
210

—

/Zf?iff &

L L

LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
__ ShkAbs |
R
FK
SpdContr

Ending

LSH
FH100
BSA2
BHABHG

216 to 25

@ Amplifier side mounting

TTZ?“T%%B

Parts list

Finger

Stainless steel

Remarks | No. |

18

A part 20, 25

B part 20, 25

Cannot be disassembled

Part name

Cap

Stainless steel

Linear guide

Stainless steel

19

Rod packing

Nitrile rubber

Lever

Stainless steel

20

O-ring

Nitrile rubber

LHA
LHAG
HAP
HKP
HCP
HGP

Fulcrum axis

Steel

21

Rod metal

Aluminum alloy

Body

Aluminum alloy

22

C-snap ring

Steel

Piston rod

Stainless steel

23

Cushion rubber

Urethane rubber

Gasket

Nitrile rubber

24

Piston packing

Nitrile rubber

(N[O [WIN|=

Washer retainer

Aluminum alloy

25

Nut

Stainless steel

HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF

©

Plug

Nitrile rubber

26

Wave washer

Stainless steel

-
o

Hexagon socket set screw

Stainless steel

210

27

O-ring

Nitrile rubber

-
-

Hexagon socket head cap screw

Stainless steel

216 to 25

28

Hexagon socket head cap screw

Stainless steel

-
N

Flat washer

Stainless steel

216

29

Check valve

Nitrile rubber

-
w

Core shaft

Steel

30

Head cover

Aluminum alloy

HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

N
~

Sensor body

31

Hexagon socket head cap screw

Stainless steel

-
a

Amplifier

32

Pin

Steel

_
o]

Fulcrum axis

Steel

33

Hexagon socket set screw

Stainless steel

N
~

CRring

Stainless steel

1548

CKD



Internal structure and parts list

LS H M 'A Series

Internal structure and parts list

LCM
LCR

@ Amplifier front mounting

210

o—

&

w1

é£¥¥§E§;@

@ Amplifier front mounting
216 to 25

LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2

N SR
B0 7 1]

ULK*
JSKIM2

Parts list

“No. [Part name | Material |

JSG
J8C31JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
ShkAbs

FJ

. FK
Cannot be disassembled Spdoonr

Part name

Ending

Romarks __Jlskie

LSH

1 |Finger Stainless steel 18 |C-snap ring Steel FH100
2 |Linear guide Stainless steel 19 |Cushion rubber Urethane rubber BSA2
3 |Lever Stainless steel 20 |Piston packing Nitrile rubber 'BHABHG
4 |Fulcrum axis Steel 21 |Nut Stainless steel LHA
5 |Body Aluminum alloy 22 |O-ring Nitrile rubber LHAG
6 |Piston rod Stainless steel 23 |Wave washer Stainless steel %
7 |Washer retainer Aluminum alloy 24 |Gasket Nitrile rubber "HCP
8 |[Core shaft Steel 25 |Hexagon socket set screw | Stainless steel 210 'HGP
9 |Sensor body - 26 |Hexagon socket head cap screw | Stainless steel 216 to 25 HLF2
10 |Check valve Nitrile rubber 27 |Plug Nitrile rubber (HLAHLB
11 |Head cover Aluminum alloy 28 |Flat washer Stainless steel 216 %
12 |Fulcrum axis Steel 29 |Amplifier adapter Aluminum alloy HLD
13 |CRring Stainless steel 30 |Amplifier - 'HMF
14 |Cap Stainless steel 31 [Hexagon socket head cap screw| Stainless steel HMF-G
15 |Rod packing Nitrile rubber 32 [Hexagon socket head cap screw| Stainless steel HMFB
16 |O-ring Nitrile rubber 33 |Pin Steel %
17 |Rod metal Aluminum alloy 34  [Hexagon socket set screw|Stainless steel HBL
HJL
HMD
HDL
HID
BHE
CKD 1549



LSHM-A

Series

LCM
LCR
LCG
LCW

LCX

ST™M

STG

STSISTL

STR2

UCA2

ULK*

JSKIM2

JSG

JSC3/JSC4

USSD

UFCD

usc

Dimensions (bore size: ¢10)

@ LSHM-A10D1A

M8 waterproof round 4-pin plug

61

=4

f@ A

@)

1.4

—o

16

I

4-M3 x 0.5 depth 5.5

\ 2-M3 x 0.5 depth 6

53.5

pilot through hole 2.6

0
4-041

uB

JSB3

LMB

LML
HCM
HCA

LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd(Chuk
ShkAbs
FJ
FK

SpdContr
Ending
LSH-HP

LSH
FH100
BSA2
BHABHG
LHA

-
35
15.2'3%

; 5.2+0.02
185 e
2-62 H9 (*3°%) depth 3

2-M3 x 0.5 depth 6

12
0.02

]

+l

7.6

&1

o3

=

16
|
18
23

4

o
4

@ LSHM-A10D2*

4-M2.5 x 0.45 through

@ LSHM-A10D1D

2-M3 x 0.5 depth 6

57 214.5 H9 (*3°°) depth 2.5

71.8

2-92 depth 3

7.6+0.02

91

12

-

4-M2.5 x 0.45 through
M3 x 0.5 (closed port)

-0.05

C surface |16.4t0.05 B surface

'
g

o

S

OO

10

<

3] 57 P

44.5

M3 x 0.5 (open port)

53.5

@ LSHM-A10D3*

4-92.9 through

=)

61

@ LSHM-A10D4*

4-M2.5 x 0.45 depth 4.7
2

@ LSHM-A10D*B/C

51 (43) £0.025
31.8

] /

o © [
—L

£\
- 4
*1: Positioning holes are machined on B
surface for LSHM-A10D*B and C surface
for LSHM-A10D*C
*2: The dimensions in parentheses are the

2 @ 2-g2 H7 (*3°") depth 3
o N

(
 © ° %)

i%

14

54733
6£0.025

124001

o

14394

‘.3 4.45

5]

N

dimensions for LSHM-A10D4.

-

<
-
=

4-M3 x 0.5 depth 5.5
pilot through hole 2.6

LHAG

°

HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD

BHE

1550

s

35
15.2'22

2-g2 H9 (5°%) depth 3

M8 waterproof round 4-pin plug 5.2+0.02

os

J7.6:0.02

2-M3 x 0.5 depth 6
|

>

N

a
G
N

1

22.3

S 4
23

M3 x 0.5 (closed port)

CKD

54.5

214.5 H9 (3*°) depth 2.5 [T

7.6+0.02

2-92 depth 3 12

5.2+0.02

-
16.4£0.05 E surface

53.5 0.5

oy 41125 % 0.45 through

@ LSHM-A10D*E

51 (43) £0.025
31.8

2-2 H7 (*3") depth 3

12

0.025

o3
wn
r

F1

6:

3.5

e e Ny

49,

V3[Ts7

44.5

M3 x 0.5 (open port)

53.5

l:\




Dimensions (bore size: 316)

LS H M 'A Series

Dimensions

@ LSHM-A16D1A

23.2

@® LSHM-A16D2*
4-M3 x 0.5 through

@ LSHM-A16D1D

0
5.0.1

66

M8 waterproof round 4-pin plug

16

16

\

b5 Fo o

4-M4 x 0.7 depth 8
pilot through hole 3.4

44

+2.2
0.2

20.9%;

2-M4 x

0.7 depth 4.5

53.5 1

-©

24

15

60.5

78.5

103.3

4-M3 x 0.5 through

M5 x 0.8 (closed port)

0
-0.05

P

P
hd

¢
DO

4[]7

7

M5 x 0.8 (open port)

@ LSHM-A16D3*

4-¢3.4 through

44.5

55

7.4%7
17.1

@ LSHM-A16D4*

[}
I

4-M3 x 0.5 depth 6

2-¢3 HO (*3%%) depth 3

—

6.5+0.02

2-M4 x 0.7 depth 8

11+0.02

N
N

221H9 ('3%*) depth 3
2-¢2 depth 2.5

C surface

Y

15

30.6

§

15

11£0.02 ] |

6.5+0.02

23.6£0.05

B surface

@ LSHM-A16D*B/ C

53.3 (44.3) £0.025

0

2.5
N Sem

-

28.5

o

ey
Cleo
3¢l r T

firnin

&5

o

th

o &

2-63 H7 (3”") depth 3

11+0.025

[

0.01

7
&

(<2}
@
~
-
o

¢.

66

16
o

-

2-M4 x 0.7 depth 4.5

4-M4 x 0.7 depth 8
pilot through hole 3.4

20.9%;

|
§

)

E

*1: Positioning holes are machined on B
surface for LSHM-A16D*B and C surface
for LSHM-A16D*C

*2: The dimensions in parentheses are the
dimensions for LSHM-A16D4.

2-93 HI ('3°°) depth 3

N
M8 waterproof round 4-pin plug g

16
29

15 1|75

M5 x 0.8 (closed port)
4-M3 x 0.5 through

12

-0.05

3.5

P

d
b4

4 []7

€

N

M5 x 0.8 (open port)

445

55

+

-

6.5+0.02

2-M4 x 0.7 depth 8

'

221H9 ('3°7) depth 3

30.6

22

2-62 depth 2.5

@ LSHM-A16D*E
53.3 (44.3) £0.025

28.5

o %

23.60.05
|

11+0.02

6.5+0.02
E surface
| (= Surtace

2-¢2 H7 ("3") depth 3

11£0.025

—

O ¢ &
/

22+0.01

CKD

LCM
LCR
LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C31JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
Mecknd/Chuk
ShkAbs

FJ
FK

[SpdConr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1551



LS H M 'A Series

LCM
LCR

Dimensions (bore size: ¢20)

LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC

@ LSHM-A20D1A

@ LSHM-A20D2*

4-M4 x 0.7 through

RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
__ ShkAbs |
R
FK
SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1552

@ LSHM-A20D1D

CKD

4-M4 x

80

M8 waterproof 4-pin plug

18.6

i

c
O

&
X

4-M5 x 0.8 depth 10

pilot through hole 4.3

0
8.0.1

\ 2-M5 x 0.8 depth 8

53.5

16.5
=]

[

2-M5 x 0.8 depth 10

0.02

=

12

: .

o1

16.8;

o
<

58
26.3:23

30
Lol
42

Far Y
&

o

20 |95

74

L
3
|

226H9 (2°?) depth 3.5 |

97.8

129.8

.8+0.02

2-p2 depth 3 18

0.7 through

M5 x 0.8 (closed

27.6£0.05

7.5+0.02
B surface
|2 Surtace

port) C surface

Py

Yd

o

g

o8
—O

0

c

&

A

-5 5119
o

M5 x 0.8 (open port)

55

68

@ LSHM-A20D3*

58
26.33

16.357
™
i

2-¢4.5 through

J
5
%

2-M5 x 0.8 depth 8

@ LSHM-A20D4*
4-M4 x 0.7 depth 8

)
T 3
©

-

@ LSHM-A20D*B/C
2-g4 H7 ('3°") depth 4

68.3 (56.3) +0.025

36.3

22
3.95
10

16.8+0.025

1.6"%7

UL

o ¢

7.45

1.6+0.2

@7

U

L —L
33.60.01

o
o
&

*1: Positioning holes are machined on B surface for

80

vl

LSHM-A20D*B and C surface for LSHM-A20D*C
*2: The dimensions in parentheses are the dimensions
for LSHM-A20D4.

18.6

E=f

1©-

4-M5 x 0.8 depth 10
pilot through hole 4.3

0
8-0 1

M8 waterproof 4-|

(¢]

Tf%

o

2-g4 HY (") depth 4

7.50.02
2-M5 x 0.8 depth 10

pin plug

16.8+0.02

o

[s2]

[

@/

42

-
>

20 []95

N
U
_©
56

74
97.8

129.8

M5 x 0.8 (closed port)
4-M4 x 0.7 through

53.5

7/ S

18
27.6+0.05

@26H9 (‘3°*) depth 3.5
2-p2 depth 3

7.5+0.02

2 @ LSHM-A20D*E

16.5

2-94 H7 ('3°"*) depth 4
68.3 (56.3) +0.025

36.3

12

&

&Y

16.840.025

€
o
°

15
|
3.5

M5 x 0.8 (open port)

55
68

o&ﬁ

33.610.01

o
&
&




Dimensions (bore size: @25)

LS H M 'A Series

Dimensions

@®LSHM-A25D1A

@LSHM-A25D2*

4-M5x0.8 through

@®LSHM-A25D1D

33.2

4-M5x0.8 through

2-M6x%1.0 depth 10

83.2

M8 waterproof round 4-pin plug

N
N

,E@W,

T

4-M6x1.0 depth 12
Pilot through hole 5.1

10 -84

1.7

422
0.2

72

36

33.3 %

25 |11

76.7
110.3

149.4

M5x0.8 (closed port)

72

Vote

'

d
p—Y

6| 12

<

0
—0.05

al

{<l

12

M5x%0.8 (open port)

@LSHM-A25D3*

2-¢5.5 through

4
A\

2-M6x1.0 depth 10

56.4
70.2

@LSHM-A25D4*

2-g4 HI ('3 )depth 4

1

0+0.02

2-M6x1.0 depth 12

f

21.8+0.02

h ST
|

15
||

231H9 ('¢°?) depth 3.5

2 -p2 depth 3

22

f - \ Jr\

21.8:0.02

10£0.02

C surface

33.640.05

B surface

@LSHM-A25D*B/C

4-M5x0.8 depth 10

4

-

4H9

=51

86.1 (71.1)£0.025

2-g4 H (") depth 4

=

26.6

DN
<

16 2°

47

21.8+0.025

83.2

22

&

O

o

4-M6x1.0 depth 12
Pilot through hole 5.1

10 54

M8 waterproof round 4-pin plug

O

©

L —L
43.6:0.01

o
&

£

*1: Positioning holes are machined on surface B
for LSHM-A25D*B and C for LSHM-A25D*C
*2: Dimensions shown in (') are for LSHM-A25D4.

2-g4 H9 (¢ )depth 4

10£0.02
2-M6x1.0 depth 12

33 %
193 &
|——|

21.8:0.02

52

25 |11

55.7
76.7
110.3

149.4

M5x0.8 (closed port)

53.5 1.7

231H9 (6° ) depth 3.5
2 -g2 depth 3

PN

EplnaAs

2184002

|

@LSHM-A25D*E

22

10£0.02

33.6:0.05

86.1(71.1)£0.025

2-¢4 H7 ('0°"*) depth 4

47

4-M5x0.8 through

ks
12

#

21,840,025

A

d
€

P

6| |12

20
3.5

12 fos

M5x0.8 (open port)

O

¢ 1

=

O &4

CKD

LCM
LCR
LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C31JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
Mecknd/Chuk
ShkAbs
FJ
FK
[SpdConr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1553



R Linear Slide Hand with length measuring function, double acting with rubber cover

% LSHM-G / LSHM-F series

LCM
% ", J-_ @ Operating stroke length: 4, 6, 10, 14 mm

LCW
E e
STM
STG @
STS/STL
STR2
UCA2
ULK*
JSKIM2
__JSG | Bore size mm 210 216 220 225
UGG T A ctuation Double acting
% Working fluid Compressed air
~usc | Max. working pressure MPa 0.7
~ uB | Min. working pressure MPa 0.2 0.1 0.1 0.1
~ JSB3 | Portsize M3 M5 M5 M5
LMB Operating stroke length mm 4 6 10 14
LML | Power supply voltage 24 VDC +10%
% Current consumption 25 mAor less
—BC | Display lamp Green LED ON when power applied
" Caca | Analog output When fingers are closed: 1 V; when opened: 5V ', connection load: 100 kQ or more
~ UCAC2 | . ... | Without correction adapter| +3% F.S. or less (ambient temperature 25°C)
CAC-N Analog output linearity With correction adapter 10.5% F.S. or less (ambient temperature 25°C)
UCAC-N R tability of | tout +0.02 mm or less
RCS2 epeatability of analog outpu (ambient temperature 25°C, no deformation or wear of actuator / jig)
~ RCCZ | "valid measured range length mm 4.5 | 6.5 | 10 | 14
% Impact resistance (sensor / amplifier section) 294 m /s’
T MCP | Vibration resistance (sensor / amplifier section) 10 to 55 Hz compound amplitude 1.5 mm, 2 hours per X, Y, Z direction
~ GLCc | Degree of protection (sensor / amplifier section) IEC standards IP65
MFC 10 to 60°C, 85% RH or less
BBS (no freezing)
RRC Amplifier mounting position Side Front Side Front Side Front Side Front
~ GRC | weight kg| 0.113 0.125 0.236 0.253 0.462 0.482 0.792 0.813
_RV3® | Lubrication Not required

NHS
HRL Note: Refer to page 1562 for the correction adapter.

LN | “1:There is output fluctuation of 1 mV / °C. Unit: N

~ Hand | L . Double acting
Chu | Gripping power Boresize (mm) =5 cnside | Closed side

MecHnd/Chuk 10 17 1

SJkAbS 1 216 45 34
—r 220 66 42

SpdContr 225 104 65
ng *Supply pressure: 0.5 MPa, L = 20 mm, value at stroke center

Specifications

Ambient temperature, humidity

o | o LVDT displacement sensor operation principle

% &% When exciting the primary coil (P), induced voltage is

~ BHABHG | generated in the two secondary coils (S1/ S2) by

~ LHA | electromagnetic induction. When the Hand is driven, the

% Uj"é; - core position changes and a difference in induced voltage
occurs between S1 and S2. This difference is used to

__HKP | A4 - e
HCP output the position of the core as electric signals.

HGP
- HLP2 - Analog output characteristics —

HLAHLB
LSHM-G / F25* S u S:

HLAGHLBG
LG F20° &= T =)

HLC
LSHM-G / F16*

o

HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL When Operating stroke length | | |
HMD closed 45 65 10 14 mm <:I I:I :>
HDL N . .

" HID | The anal_og output voltage at sh|pment is 1V onthe | [ [

closed side and 5 V on the open side, with the port

_ BHE | closed and pressurized. Primary coil
1554 CKD

Secondary coil 1 Secondary coil 2

LSHM-G / F10*

-

Analog output voltage (V)




How to order

(LsHm)-(6)10(D)(1)(A)-(N)- HP2

ORubber cover

@Bore size

@Actuation

OFinger

@ Amp mounting position / grip center
reference, high precision positioning hole

@ Correction adapter option

*1

LSHM'G / LSHM'F Series

How to order

LCM
LCR
LCG
LCW
LCX
ST™M

Code

Description

O Rubber cover

G

Chloroprene rubber

Fluoro rubber

() Bore size (mm)

210

16

216

20

220

STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD

(C) Actuation
Double acting

usc
uB

JSB3
LMB

(D) Flnger
Basic

LML
HCM
HCA

@ Amp mounting position / grip center reference, high precision positioning hole *1
Amp side / no positioning hole

Amp side / rear with finger below and piping right

LBC
CAC4
UCAC2

CAC-N

Amp side / rear with finger below and piping left

B
C
D

Amp front / no positioning hole

Amp front / rear with finger below and piping right

() Correctlon adapter option

Without correction adapter

A

Correction adapter attached

Amp mounting position / grip center reference, high precision positioning hole position diagram

LSHM-GLILI[B
LSHM-FLILIL B

LSHM-GLI[IIC
LSHM-FLILILIC

LSHM-GLILILIE
LSHM-FLILILIE

Positioning hole Positioning hole

N N

Positioning hole

o o o o

#
<
&
O

o
f

2T | T

Piping Piping

C surface
surface surface

B surface

R

Piping

E surface
surface

Refer to the Dimensions (pages 1558 to 1561) and page 1567 for details.

[Example of model No.]

LSHM-G10D1A-N-HP2

Model: Linear Slide Hand

ORubber cover

®Bore size

@Actuation

®Finger

GAmp mounting position / grip center
reference, high precision positioning hole

GCorrection adapter option

1210
: Double acting
: Basic

: Chloroprene rubber

: Amp side / no positioning hole

: Without correction adapter

Plug contact array diagram

‘Without correction adapter

(4) Not in use
(3) Power supply 0V
(2) 1to 5V output

(1) Power supply +24 V

-Correction adapter attached

M8 socket (IN side) pin array
(1) +24 VDC (3) COM
(2) 1to 5V output (4) Not in use
M8 plug (OUT side) pin array

3) COM (1) +24 VDC

(4) Not in use 2) 110 5V output

CKD

UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
ShkAbs

FJ
FK

[ SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1555



LSHM'G I LSHM'F Series

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
usc

LN

Chuk
MecHnd(Chuk
__ ShkAbs |
R
FK
SpdContr

Internal structure and parts list

@ Amplifier side mounting
210

T A
LT

P

N4

: Q

A part 20, 25

Parts list

Finger

B part 220, 25

Stainless steel

@ Amplifier side mounting

216 to 25

2-]A

T

(©

[ J

Cannot be disassembled

mwmmmw

Rod packing

Nitrile rubber

Ending

LSH

Linear guide

Stainless steel

20

O-ring

Nitrile rubber

Lever

Stainless steel

21

Rod metal

Aluminum alloy

Fulcrum axis

Steel

22

C-snap ring

Steel

FH100
BSA2
BHABHG
LHA
LHAG
HAP

Body

Aluminum alloy

23

Cushion rubber

Urethane rubber

Piston rod

Stainless steel

24

Piston packing

Nitrile rubber

Gasket

Nitrile rubber

25

Nut

Stainless steel

O|N[OjgO|d~|WIN

Washer retainer

Aluminum alloy

26

Wave washer

Stainless steel

9

Plug

Nitrile rubber

27

O-ring

Nitrile rubber

HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG

10

Hexagon socket set screw

Stainless steel

210

28

Hexagon socket head cap screw

Stainless steel

11

Hexagon socket head cap screw

Stainless steel

216 to 25

29

Check valve

Nitrile rubber

12

Flat washer

Stainless steel

216

30

Head cover

Aluminum alloy

13

Core shaft

Steel

31

Hexagon socket head cap screw

Stainless steel

14

Sensor body

32

Pin

Steel

HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

15

Amoplifier

33

Hexagon socket set screw

Stainless steel

16

Fulcrum axis

Steel

17

CRring

Stainless steel

34

Rubber cover

Chloroprene rubber

LSHM-G*

Fluoro rubber

LSHM-F*

18

Cap

Stainless steel

Repair parts list

Gore size (mm) | - Waterial

Chloroprene rubber
Fluoro rubber

210

LSH-G10K

LSH-F10K

216

Chloroprene rubber

LSH-G16K

Fluoro rubber

LSH-F16K

Repair part No.

o

[Bore size (mm) | _Waterial |

Chloroprene rubber

220

LSH-G20K

[ KitNo.—[Repar part o

Fluoro

rubber LSH-F20K

225

Chloroprene rubber

LSH-G25K

o

Fluoro

rubber LSH-F25K

1556

CKD



Internal structure and parts list

LSHM'G / LSHM'F Series

Internal structure and parts list

@ Amplifier front mounting
210

oAl

A part 20, 25

Parts list

Finger

B part 220, 25

Stainless steel

@ Amplifier front mounting

216 to 25
2]

-

[ /.

-

=i

\_I

I

2000000 s

A %‘%ﬁ

24
o)

S\
i ny

Cannot be disassembled

mmmmmw

Cushion rubber

Urethane rubber

LCM
LCR
LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
ShkAbs

FJ
FK

[ SpdConr

Linear guide

Stainless steel

20

Piston packing

Nitrile rubber

Lever

Stainless steel

21

Nut

Stainless steel

Fulcrum axis

Steel

22

O-ring

Nitrile rubber

Ending

LSH

Body

Aluminum alloy

23

Wave washer

Stainless steel

Piston rod

Stainless steel

24

Gasket

Nitrile rubber

Washer retainer

Aluminum alloy

25

Hexagon socket set screw

Stainless steel

210

O IN|oO|ja|d|lwIN

Core shaft

Steel

26

Hexagon socket head cap screw

Stainless steel

216 to 25

9 |[Sensor body

27

Plug

Nitrile rubber

FH100
BSA2
BHABHG
LHA
LHAG
HAP

10 |Check valve

Nitrile rubber

28

Flat washer

Stainless steel

216

11 [Head cover

Aluminum alloy

29

Amplifier adapter

Aluminum alloy

12 |Fulcrum axis

Steel

30

Amplifier

13 |CRring

Stainless steel

31

Hexagon socket head cap screw

Stainless steel

14 |Cap

Stainless steel

32

Hexagon socket head cap screw

Stainless steel

HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG

15 |Rod packing

Nitrile rubber

33

Pin

Steel

16 |O-ring

Nitrile rubber

34

Hexagon socket set screw

Stainless steel

17 |Rod metal

Aluminum alloy

18 |C-snap ring

Steel

35

Rubber cover

Chloroprene rubber

LSHM-G*

Fluoro rubber

LSHM-F*

Repair parts list

Bore size (mm) | Material

Chloroprene rubber

210

LSH-G10K

Repair part No.

Fluoro rubber

LSH-F10K

220

LSH-G20K

“Bore size (mm) | Material | Kit No. —|Rapirpartho

Chloroprene rubber

Fluoro

rubber LSH-F20K

216

Chloroprene rubber

LSH-G16K

o

Fluoro rubber

LSH-F16K

825

Chloroprene rubber

LSH-G25K

o

Fluoro

rubber LSH-F25K

HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

CKD

1557



LSHM'G I LSHM'F Series

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STS/STL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
__ ShkAbs |
R
__FK_ |
SpdContr

Ending

LSH
FH100

Dimensions (bore size: ¢10)

@ LSHM-G10D1A
LSHM-F10D1A

@® LSHM-G10D1D
LSHM-F10D1D

BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP

HGP
HLF2
HLAHLB
HAGHL3G
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1558

CKD

2-M3 x 0.5 depth 6

61

M8 waterproof 4-pin plug

o
<

<,
—
—

(21)

1O

16

4-M3 x 0.5 depth 5.5
pilot through hole 2.6

(40)

0
404

53.5

0.5

-+ -

12

+2.2
0

11.23,

15.2

5.210.02
— >y

2-32 H9 (*3°%°) depth 3

J
T

2-M3 x 0.5 depth 6

<

B
Y
|

18
23

214.5 HO (*3°°) depth 2.5 _{1l&

A

57

12

65

91

4-M2.5 x 0.45 through

M3 x 0.5 (closed port)

0
5.0.05

¢
O

10
]

3 | |57
M3 x 0.5 (open port)

445

53.5

61

(21)

o
<

fo—o

==

<
-
=

2-M3 x 0.5 depth 6

4-M3 x 0.5 depth 5.5
pilot through hole 2.6

(40)
15.2%2

0
404

g

M8 waterproof 4-pin plug

2-92 depth 3

12 5.2+0.02

C surface
—_—

16.420.05

@® LSHM-G10D1B/ C
LSHM-F10D1B / C

51+0.025

2-¢2 H7 (*3°") depth 3

['e]
N

0.0.

/

JR2

+

r(
\

[$

0.01

— |[—%

\E

&

)

*1: Positioning holes are machined on B surface for
LSHM-*10D1B and C surface for LSHM-*10D1C

2-2 H9 (*3%°) depth 3

5.2+0.02

2-M3 x 0.5 depth 6

7.6+0.02

R
JQ\

16

(o)
\

16

11.23;

==

«©
N}
N

o
<

23

54.5

12

65

91

53.5

0.5

M3 x 0.5 (closed port)
4-M2.5 x 0.45 through

16.5

12

-0.05

o

¢
<

>

10
||
3.5

R

3 | |67

M3 x 0.5 (open port)

44.5

53.5

214.5 H9 ("3°°) depth 2.5

2-92 depth 3

12

16.4£0.05

@ LSHM-G10D1E
LSHM-F10D1E

51+0.025

JE=

0 ¢




Dimensions (bore size: 316)

LSHM'G / LSHM'F Series

Dimensions

LCM
LCR

@ LSHM-G16D1A

LSHM-F16D1A 2-M4 x 0.7 depth 4.5

66

M8 waterproof round 4-pin plug

16

PPN
Y

(29.6)

16

4-M4 x 0.7 depth 8
pilot through hole 3.4

0
501

53.5

12

. <

20.9'32
14.93;

(61)

24

©

AN b
&y

60.5

15

70.8

103.3

4-M3 x 0.5 through

M5 x 0.8 (closed port)

0
8.005

M5 x 0.8 (open port)

@® LSHM-G16D1D
LSHM-F16D1D

2-M4 x 0.7 depth 4.5

66

(29.6)
16
&]
o

4-M4 x 0.7 depth 8
pilot through hole 3.4

0
5.0.1

+2.2
0.2

EA

8 waterproof round ‘
4-pin plug

—

2-g3 H9 (*§%%°) depth 3

T,

11+0.02

2-M4 x 0.7 depth 8

LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc

F

N
N

&
Ny

B

15

30.6

uB
JSB3
LMB

LML
HCM

221H9 (*5*?) depth 3

11+0.02

2-¢2 depth 2.5 N

6.5+0.02
B surface
|2 2Hate

15
23.6+0.05

C surface
—_—

@ LSHM-G16D1B / C
LSHM-F16D1B / C

53.3+0.025

2-33 H7 (*5°") depth 3

©

o
@
|

—

)

*1: Positioning holes are machined on B surface for
LSHM-*16D1B and C surface for LSHM-*16D1C

2-g3 H9 ('3%°) depth 3 __6.5£0.02

11+£0.025
0.01

2-M4 x 0.7 depth 8

HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
ShkAbs

FJ

FK

[ SpdContr

Ending

LSH

(61)

14.95;

20.9

il
|

16
29

11£0.02

15

¥fk} ]
\
€

—‘E L

FH100
BSA2
BHABHG
LHA
LHAG

30.6

eI
Y

o -

103.3

M5 x 0.8 (closed port)

4-M3 x 0.5 through

221H9 (*3°?) depth 3

| =
=

15 6.5£0.02
E surface

2-p2 depth 2.5

23.620.05

@ LSHM-G16D*E

LSHM-F16D*E
53.3£0.025

2-62 H7("3"

12

-0.05

5

e

13

M5 x 0.8 (open port)

44.5

55

35

HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1559




LSHM'G I LSHM'F Series

LCM
LCR
LCG
LCW

LCX

STM

STG

STS/STL
STR2
UCA2

ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM

Dimensions (bore size: ¢20)

@ LSHM-G20D1A
LSHM-F20D1A

(34.6)

2-M5 x 0.8 depth 8

18.6

M8 waterproof round 4-pin plug

[o-o
| R

16

4-M5 x 0.8 depth 10
pilot through hole 4.3

(66)
26.3°23

0
8.0.1

M

12
-

&

16.337

! o

30

Var Y
A

74

HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
ShkAbs
FJ
FK

SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HAGHL3G
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD

BHE

1560

4-M4 x 0.7 through

@ LSHM-G20D1D
LSHM-F20D1D

0
0.

20

88.5

129.8

M5 x 0.8 (closed port)

t

e
<

) g

15
B

59

o

M5 x 0.8 (open port)

55
68

2-M5 x 0.8 depth 8

80

(34.6)

]
A\ V%

18.6

e

o

4-M5 x 0.8 depth 10
pilot through hole 4.3

(66)

0
5.0

M8 waterproof round 4-pin plug

+2.2
0.2

26.3:

226H9 ('5°%) depth 3.5

16.397

:
— ||lor ®
(@)

FanY
AV

16
36

.

==

74

20

88.5

129.8

M5 x 0.8 (closed port)

4-M4 x 0.7 through

CKD

12

oYl

AV

1

59

15

M5 x 0.8 (open port)

3.5

2-g4 HO (*3™) depth 4 *T

7.5+0.02

2-M5 x 0.8 depth 10

16.8+0.02

FanY
\

|

15
32
42

-
\ Vg

2-¢2 depth 3

6.840.02

18

=

7.5+0.02

C surface

B surface

27.6£0

.05

@ LSHM-G20D1B /
LSHM-F20D1B /

68.3+0.025

Cc
Cc

2-4 H7 (5°") depth 4

[ TN+

-

16.8+0.025

P

<

o

<
| — T

o

—

@ o

33.6+0.01

i

S

e/

*1: Positioning holes are machined on B surface for

LSHM-*20D1B and C su

2-g4 H9 (*2%) depth 4
-

rface for LSHM-*20D1C

7.5+0.02

2-M5 x 0.8 depth 10

16.8+£0.02

g

15
32
42

|
i

A\ Vg

226 H9 ("3°?) depth 3.5

2-p2 depth 3

6.8+0.02

1

18 7.5+0.02

27.

6£0.05 E surface

@ LSHM-G20D1E

LSHM-F20D1E
68.3£0.025

2-p4 H7(*3""%)
Depth 4

—m

¢

O

16.8+0.025

/

v
L__—T1

0.01

°

19
[ud




Dimensions (bore size: @25)

LSHM'G / LSHM'F Series

Dimensions

@ LSHM-G25D1A
LSHM-F25D1A

2-M6 x 1.0 depth 10

83.2

M8 waterproof round 4-pin plug

22

66
|

(41.6)

4-M6 x 1.0 depth 12
pilot through hole 5.1

]

. .100.02
2-g4 H9 (o™ ) depth 4

2-M6 x 1.0 depth 12

12

-

P

1034

+2.2
-0.2

=

(82)
333

36

ry

8+0.02

i

15
40
52

21.

‘Y'

99.7

149.4

4-M5 x 0.8 through

M5 x 0.8 (closed port

Py

&

©

[=))
-

0
-0.05

20

P

M5 x 0.8 (open port)

@® LSHM-G25D1D 2-M6 x 1.0 depth 10

56.4
70.2

LSHM-F25D1D

&

22

o6
o=®

(41.6)

&

4-M6 x 1.0 depth 12
pilot through hole 5.1

M8 waterproof round 4-pin plug

Il

FANNRY;

231H9 ('8°) depth 3.5

2-p2 depth 3

21.8+0.02

e

22
33.6+0.05

1040.02
B surface

C surface

@ LSHM-G25D1B/ C

LSHM-F25D1B / C 204 H7 (") depth 4

86.1+0.025
—\"'I

21.8+0.025

L ——

43.60.01

N 7

il L

*1: Positioning holes are machined on B surface for
LSHM-*25D1B and C surface for LSHM-*25D1C

—

—

2-34 HO (*3%) depth 4

10£0.02

33.3%3 103,

(82)
19.33,

16
]

+/]
&,
@ |

7
L ©

36

21.8+0.02

fo¥

2-M6 x 1.0 depth 12
[\
}

40
52

15
e

N7
T

55.7

76.7

25

99.7

149.4

M5 x 0.8 (closed port)

4-M5 x 0.8 through

1.7

J\

@31H9 (*3°?) depth 3.5

2-g2 depth 3

21.8+0.02

e
22
33.6£0.05

10+0.02
E surface

@ LSHM-G25D1E 2-94 H7('3°%)

Depth 4

12

LSHM-F25D1E

86.1+0.025

©

0
-0.05

20

M5 x 0.8 (open port)

56.4
70.2

3.5

N

21.8+0.025

Il

O

L —L

o

43.620.01

0 &, 7

ol '
CKD

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
ShkAbs

FJ

FK

[ SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1561



LS H M Series

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD

Correction adapter

The analog output linearity will be corrected. Please use for applications where high-accuracy linearity is required.

Specifications

tem | Descripon |

Power supply voltage

24 VDC £10%

Current consumption

35 mAor less

Display lamp

Red LED lit when power applied

Analog input

1to 5V (LSHM Series output voltage)

Analog output

1 to 5V, connection load 50 kQ or more

UFCD
usc
uB
JSB3
LMB

Analog output linearity

+0.5%F.S. or less
(ambient temperature 25°C, LSHM Series connection, CKD provided measuring method)

Repeatability of analog output

+0.02 mm or less
(ambient temperature 25°C, no deformation or wear of actuator/jig)

LML
HCM
HCA

Input connector

M8 waterproof round 4-pin connector socket

Output connector

M8 waterproof round 4-pin connector plug

LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
__ ShkAbs |
R
FK
SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1562

Impact resistance

294 m/s?

Degree of protection

|IEC standards IP65

Ambient temperature, humidity

10 to 60°C, 85% RH or less

Mounting method

Direct mounting

Weight

409

*Use the default combination of LSHM and correction adapter.

Dimensions

M8 waterproof round 4-pin connector socket (IN side)

24.6

(, 1
@ A ] 2-3.4 through

\W(I%

Display lamp M8 waterproof round 4-pin connector plug (OUT side)

-

7.3

CKD

13 13.9

18

83 31




MEMO

LCM
LCR
LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

|Chuk
| ShkAbs
I
FK

SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHL36
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

CKD 1563




LS H M Series

__Lem System configuration
LCR

LCG
_LCW | 4-conductor cable with M8 socket

4-conductor cable with M8 socket
LCX Recomm m mber: : n
STM Recommended model number: XS3W-M42D (OII ron) eco ended model number: XS3F M42D (O I'Oﬂ)

STG
STSISTL
STR2
UCA2
ULK"
JSKIM2
JSG
JSC3ISC4 _
USSD f

UFCD \_‘ °
usc

UB Correction adapter
JSB3 ‘—’ o o

LMB
LML l_ LSHM

HCM
HCA
LBC
CAC4 . .
Jcacs  Internal circuit
CAC-N
UCAC-N
RCS2
RCC2 Main circuit
PCC
SHC
MCP
GLC
MFC
BBS
RRC

Drive circuit |
GRC
RV3*

Constant o Power
tQQQJ voltage circuit i supply +24 V
NHS :

S S N

PLC
Analog input
unit, etc.

_____________________________________________________________________

Power indicator
lamp (Green)

1to 5V output
O (0 V power supply
reference)

LN
Rectifier Amplification Output
circuit circuit circuit

Chuk
MecHnd(Chuk
__ ShkAbs |
R
FK
SpdContr

Ending

LSH
FH100

758@;2(; Plug contact array diagram (LSHM)
LHA
LHAG
:ﬁg (4) Not in use
HCP
HGP
HLF2
HLAHLB (3) Power supply 0 V
HAGHLEG
HLC
HLD

THME (2) 1to 5V output
HMF-G
HMFB

_HEP_| 1) Power supply +24 V
FH500 (1) pply
HBL
HIL
HMD
HDL
HJD
BHE

1564 CKD

Power
supply 0 V

_____________________________________________________________________________________




LS H M Series

System configuration

Internal circuit (correction adapter) L

LCG
LCW
---------------------------------------------------- LCX
STM
OUTside| ¢
STSISTL
STR2
UCA2
ULK*
JSKIM2

1
|
|
1
;
i
1
;
|
i JSG
1
:
|
|
1
|
:
1
1

Main circuit

IN side (LSHM side)

+24 V output 0 Power supply

T S Power 15314504
(supplied to LSHM) : circuit

supply +24V  ussp

UFCD
usC
UB
1to 5V output JSB3
———O (0 V power supply %
i reference) Y
: HCA
| LBC

Voltage output
circuit

1to 5V input O Signal input

(from LSHM) Microcomputer

circuit

Power
supply 0 V

Power CAC4
supply 0 V UCAC2
CACN
UCACN
RCS2
RCC2
PCC
SHC

. . MCP
Plug contact array diagram (correction adapter) ‘Glc
MFC

BBS

RRC
GRC

M8 socket (IN side) pin array M8 plug (OUT side) pin array E\é?é
IHRL
1) +24 VDC 3)CcoMm 3)CcCoM 1) +24 VDC N

(1) (3) 3) (1) Hand

Chuk
MecHnd/Chuk
ShkAbs
FJ

(2) 1to 5V output (4) Not in use (4) Not in use (2) 1 to 5 V output ?207
pdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

CKD 1565

_____________________________________________________________________




LS H M Series

_Lem L. SHM Series usage guide

LCR

LCG
LCW
- . Workpiece measurement using the entire operating stroke length range
STG
STS/STL
STR2
UCA2
ULK*
JSKIM2 @
js%a?sm E PLC, display, etc.
USSD 1
UFCD
UsSC
UB Analog output characteristics
JSB3 |
LMB
LML
HCM —
HCA o o
LBC
CAC4 @) o)
UCAC2 | |
CAC-N

Ex) Judgment of workpiece model in multi-model production equipment, etc.

J

LSHM-A25*
LSHM-A20*
LSHM-A16*
LSHM-A10*

(1) Mount the attachment.

Analog output voltage (V)

T When 4565 10 14  Operating (2) Grip two reference workpieces such as block

UCACN | |
: stroke length . .
RCS2 Ex: 3 mm dlosed e ene gauges, corresponding to the minimum and

% ::r maximum dimensions of the workpiece to be used.

~ SHC | (3) Use the signal output from the sensor to set the
MCP \ display or PLC of the receiving side.

__GLC | Cal Ex) 2 V output = 3 mm, 4 V output = 8 mm
MEC alibrated block gauge i . . .
—BBS | (4) After setting, length measurement is possible with

" RRC | linearity of £3% F.S. (x0.5% F.S. with correction

GRC adapter option) over the entire stroke
RV3*
NHS

HRL

v Higher-precision measurement through limiting the measurement range

chuk | Ex) Confirming that workpiece dimensions are within tolerance range, confirming wear and deformation of

_ MecHdChuk | attachments and jigs, etc.
ShkAbs
FJ )

FK
SpdContr @ —

Ending 1 PLC, display, etc.

| Ju

LSH
E';,)fzof Analog output characteristics
BHABBHG |
LHA
LHAG

__HAP | (e} (0}
HKP
HCP
HGP (¢) )
HLF2 | |

LSHM-A25*
LSHM-A20*
LSHM-A16*
LSHM-A10*

HLAHLB 1 Operati (1) Mount the attachment.
 HAGHLEG | When 4565 10 14 perating . . .
closed stroke length (2) Grip a calibrated block gauge or master workpiece

% mm with the same size as the workpiece to be

" HMF | measured.
HMF-G (3) Use the signal output from the sensor to set the
__HMFB | \ display or PLC of the receiving side.

__HFP | Master workpiece or Ex) 2 V output = 3 mm
~ FH500 | calibrated block gauge with equivalent dimensions

HBL (4) Arange of £0.5 mm around the set dimensions can
Rl be measured with linearity of +0.5%FS (reference
% value when without correction adapter).

HJD

BHE

1566 CKD

Analog output voltage (V)




LS H 'H P Series

Positional reference of positioning hole

Positional reference of positioning hole

@ Positioning hole on body end face

Positioning hole (spigot hole reference)

X+0.02

Y+0.02

L

| Spigot hole

,_f

@ Grip center reference, high precision positioning hole
Positioning can be performed with reference to the gripping center

Y

L

X+0.025

Positioning hole 1

Y+0.02

X+0.025

lr

Positioning hole 1

- - n

,{;_

Y+0.025
—
Y+0.025

-4

bt |
-

Pitch
+0.01

—

O

bt |
-

Pitch
+0.01

=

==

Base line

Positioning hole 2 Base line
Linear guide

Linear guide

Base line of positioning hole

With the workpiece gripped at custom stroke length, the finger
facing left and the linear direction of the linear guide as the Y axis,
X axis direction reference: Upper finger tip

Y axis direction reference: Center of outer surface of finger

Ex) When standard finger faces left and
piping is on top
LSH*JLILICR

Positioning hole 1

Positioning hole 2

Upper finger

Positioning hole 2

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL

Ex) When standard finger faces left and
piping is underneath
LSH* UL

Positioning hole 1

Positioning hole 2

CKD

LN

Chuk
MecHnd/Chuk
ShkAbs

FJ

FK

[ SpdContr

Ending

LSH
FH100

BSA2
BHABHG

LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

1567



LS H 'H P Series

_Lem | L. SH-HP selection guide
LCR

LCG

“low Select a suitable model by required gripping force

_LeX |

% (1) Calculation of required gripping force
STSISTL | Gripping force Fw satisfying the following equation is required to transport the workpiece (weight WL).
STR2
UCA2

— e WixgxK Fw : Required gripping force [N]

szKéW Fw> n : Number of attachments = 2

SCYUSCH n WL : Weight of workpiece [kg]

% : Gravity acceleration 9.8 [m/s?]

~UFCD | g
3720 K : Transport coefficient

JSB3 5 [holding only]
LMB
LML 10 [normal transport]
HCM
oA | 20 [suddenly accelerated transport]
LBC
CAC4 .
~Ucace — Transport coefficient K
CAC-N
UCAC-N
RCS2 with friction coefficient p of workpiece and finger as 0.1, see below.
RCC2
PCC Obtain the transport coefficient K from the force applied to the workpiece o
" SHC | t: Deceleration time [sec]

MCP “Inertial force = Wi (V/t) y: Coefficient of friction | |

__GLC | -Gravity = WL g
_ MFC | WL(V/t)+Wig WL(V/t+g) 17.3 WL Gripping force FW’——l—_‘ J
BBS ‘Required gripping force Fw > = = =86.5WL P

RRC ny ny 2x041
GRC
RV3* ."Here, the transport coefficient K is Vittg _ 0.75/0.1+9.8 20 Frictional force Frictional force
__NHS | calculated from the above equation: ug 0.1x9.8 WP HFu
HRL

LN

Calculation example: When decelerating and stopping in 0.1 second from transport speed of V = 0.75 m/s

V: Transport speed [m/sec]

Inertia force

Gravity WiLg

Note) Allowance is required for transport coefficient K due to impacts during transportation, etc. Even when
Chuk
MecHnd/Chuk
ShkAbs
FJ
FK

s | (2) Model selection by required gripping force

~_Ending | The gripping force changes depending on the "grip direction”, "attachment LSH™-A™D Page 1570
length”, and "supply pressure". Confirm on the gripping force graph that LSH*™-A™S/C Page 1571
LSH | sufficient force can be obtained under the usage conditions. LSH*-G/F**D Page 1572

BSA2 LSH*-G/F**S/C Page 1573

BHABHG
LHA

LHAG Grip direction Attachment length { Understanding the gripping force graph

% (For LSH-A20D closing direction)

HCP
HGP
HLF2
HLAHLB

HAGHLEG [© o
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HIL

L | . Gripping point

HMD
" HD | @ Open direction (<) H For example, when supply pressure is 0.5 MPa and
BHE @ Closed direction (wp) attachment length is 50 mm, the gripping force is 40 N.

1568 CKD

the coefficient of friction p is higher than p = 0.1, set transport coefficient K from 10 to 20 or more for safety.

LSH*-A20D

80
0.7 MPa

60 — 0.6 MPa
— - 0.5 MPa

40 | === B
04 MPa

*
20 _ _—+0.3 MPa
i
1

Gripping force (N)

0.2 MPa

0
| 0 50 100 150
Length of attachment £ (mm)




LS H 'H P Series

Model selection
STEP-2 Confirmation of attachment shape

Use the attachment within the range shown on page 1574.

Example) L: 50 mm, H: 25 mm

L
n LSH*-*20
,76}_ 0.4 MPa
YN C 1 : 0.5 MPa_
. A I??{ )ﬁg‘ 0.6 MPa
v r' = 0.7 MPa
Lt
: N
Gripping point 00 50 100 150
When LSH-A20D is selected, the intersection of L:50mm and L (mm)
H:25mm will be inside the supply pressure line of 0.5MPa, so it can

be used.

@Use attachments that are as short and lightweight as possible.
If the attachment is long and heavy, inertia increases when opening and closing. This may cause play in the finger, and adversely affect durability.
@Even if the attachment shape is within the performance data, by making it as small as possible enables the product to have a longer
service life. Also, if £ is long, unexpected vibration, etc., could cause erroneous gripping and falling during transport. With "Cylinder
diameter x1.3/working pressure" as a guide, if { is longer than that, set the transport coefficient of STEP-1 to a high value (Guideline:
Transport coefficient 20 or more)

@The weight of the attachment affects the service life, so check that the weight is less than the following value.
W<1/4H (1 pc.) W: Weight of attachment
H: Product weight of Hand

Confirmation of external forces applied to finger

When an external force is applied to a finger such as when conveying and inserting workpieces, use it within [Table 1] parameters.
*When in use during transport, consider the impact at the end.

O
o
) o o] O ) o]
O o] Q o O o]
| _J [ | L ¢ —
— — —
A4 ‘ W 1 W 2 LT
Vertical load Bending moment Radial moment o S
-m)= -m)=" LT
W (N) M1 (N-m)=W1xL M2 (N-m)=W2xL
[Table 1] Allowable load value b) @ -
By Vertical load Bending moment Radial moment Torsion moment {; -~
Wmax (N) M1max (N-m) M2max (N-m) M3max (N-m) W3
26 15 0.06 0.06 (0.12) 0.06 ~_ -
210 75 0.39 0.39 (0.69) 0.39 Torsion moment
216 147 1.32 1.32 (2.2) 1.32 M3 (N-m)=W3xL
220 265 2.1 2.1 (4.0) 2.1 L Dist o the point where load | led
225 343 30 3.0 (6.0) 30 : Distance to the point where load is applie
232 490 4.5 4.5 (9.0) 4.5

If multiple external forces are applied, the resultant external forces (formula below) must be less than 1.
WT=W/Wmax+M1/M1max+M2/M2max+M3/M3max<1

When using the product with radial moment of () or less, keep L and H dimensions at 2/3 or less of the length stipulated on page 1570.
Sample calculation (1): When conveying a workpiece
Model No.: LSH-A20D, When a workpiece (weight: m=0.8kg, center of gravity: L=60mm) is gripped and transported with an attachment
(weight: mk:0.06kg, center of gravity: Lk=30mm)
(g: Gravity acceleration 9.8m/s’, a: Coefficient of impact generated at end = 3 )
M= a x W,xL = ax (mxgxL,x2+mxgxL)
=3x(0.06x9.8x30x 10 °*x2+0.8x9.8x60x 10 *)=1.5N-m, and M;max = 2.1 N-m or below, and therefore, can be used.
Sample calculation (2): When inserting a workpiece
Model No.: LSH-A20D, L=40mm for load W,: When 40 N is added
M,=W,xL=40x40x107= 1.6 N-m and M1,,,,= 2.1 N-m or less, so use is possible

LCM
LCR
LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk

Mecknd/Chuk

ShkAbs

FJ

FK
[SpdConr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

CKD 1569



LSH'A I LSHL'A' LSHM'A Series

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STS/STL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
ShkAbs
FJ
FK

SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HAGHL3G
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD

BHE

Gripping power performance data LSH-A**D / LSHL-A**D / LSHM-A**D (double acting)

- The gripping power indicates the thrust (for one finger) in the direction of the arrow shown in the figure.

- The gripping power operating in the opening/closing directions against the length () of the attachment when the

supply pressure is 0.7 MPa or less is shown.

@ Open direction (<=)
@ Closed direction (=)

BB
A

T\ Gripping point

1570 CKD

Closed direction

Gripping power (N)

Gripping power (N)

Gripping power (N)

Gripping power (N)

Gripping power (N)

Gripping power (N)

LSH-A06D
1 -07MPa
\ |
N | osmra
4 E/ 0.5 MP.
[ ———0. a
~~
\\\<<\//0.4 MPa
2~ 0.3 MPa
\\</0.2 MPa
0

0 10 20 30 40
Length of attachment £ (mm)

LSH*-A10D

20 [ [ }-07wmpa
5l————1 | | 06MPa
T | | 1-05MPa

10— 0.4 MP
— ———0. a
5 —_— 1-0.3 MPa
————__ | 02MPa

0
0 20 40 60 80 100
Length of attachment £ (mm)

LSH*-A16D
50 —
——T T ]

40 ——0.7 MPa
a0l T \:\0.6 MPa
~0.5 MPa
20 0.4 MPa
10 E— 0.3 MPa
0.2 MPa

0
0 20 40 60 80 100 120
Length of attachment £ (mm)

LSH*-A20D
80
|- 0.7 MPa
60 L 0.6 MPa
—_— 0.5 MPa
40 — 0.4 MPa
20 |- 0.3 MPa
0.2 MPa
0

0 50 100 150
Length of attachment 2 (mm)

LSH*-A25D
10

—_ | 1 07MPa
80 ——— 0.6 MPa
60— —0.5 MPa

—
20 0.4 MPa
—0.3 MPa

—_
20 —0.2 MPa

0

0 50 100 150
Length of attachment 2 (mm)

LSH-A32D

250 0.7 MPa
200 — 1+ 6wmPa
—_—— 1 —o.

150 —0.5 MPa
100 —0.4 MPa

—0.3 MPa
50 0.2 MPa

0
0 50 100 150 200
Length of attachment £ (mm)

Open direction

Gripping power (N) Gripping power (N) Gripping power (N) Gripping power (N) Gripping power (N)

Gripping power (N)

LSH-A06D

| [ —f-07Mpa
~—l_ 1 06MPa
— 0.5 MPa
— | | 04MPa
—— 1 1 03MPa

— 0.2 MPa

/

N A~ OO 00 O

[y
I

(e}

0 10 20 30 40
Length of attachment £ (mm)

LSH*-A10D
%0 T 1 07MPa
Br=—T"1 1 o6MmPa
20 [ [—105MPa
15— ———+ 0.4 MPa
—]
10 0.3 MPa
5 0.2 MPa

0
0 20 40 60 80 100
Length of attachment £ (mm)

LSH*-A16D

80

1 07MPa
-

60 —-—"// |-0.6 MPa
T | | | 1o5MPa
40—+ 04MPa
|| 0.3MPa
20 0.2 MPa

0
0 20 40 60 80 100 120
Length of attachment £ (mm)

LSH*-A20D

100 0.7 MPa
80 0.6 MPa
60 ——T———————0.5MPa
— 0.4 MPa

40 —0.3 MPa
20 —0.2 MPa

0

0 50 100 150
Length of attachment 2 (mm)

LSH*-A25D
160
— | 0.7 MPa
120 —0.6 MPa
0.5 MPa
80 +—0.4 MPa
—0.3 MPa
40 0.2 MPa
0

0 50 100 150
Length of attachment 2 (mm)

LSH-A32D

300
—1 [ T 1o7wpa
20— T T oeMPa
200 L 0.5MPa
150 0.4 MPa
100 F——= 0.3 MPa
50 —T——0.2 MPa

0
0 50 100 150 200
Length of attachment £ (mm)



LS H 'A Series

Gripping power performance data

Gripping power performance data LSH-A**S / C (single acting)

- The gripping power indicates the thrust (for one finger) in the direction of the arrow shown in the figure.
- The gripping power operating in the opening/closing directions against the length () of the attachment when the
supply pressure is 0.7 MPa or less is shown.

@ Open direction (<=)
@ Closed direction (=)

1\ Gripping point

Closed direction

LSH-A06S
— ~ |-0.7 MPa
z \//
5 3 0.6 MPa
= 2= 0.5 MPa
o =
§ L= ™~ 0.4 MPa
& 0.3 MPa

0

0 10 20 30 40
Length of attachment £ (mm)

LSH*-A10S
12
= T —T—+}o07MPa
s T T 1T T 06MP
5 8 . a
=S B 0.5 MPa
(2}
£ 4l 0.4 MPa
a I .
5 2 —=— 0.35 MPa
0
0 20 40 60 80 100
Length of attachment £ (mm)
LSH*-A16S
50
s | | +-07MPa
S 40 — ——1-0.6 MPa
[ _— L —]
g 30 —1 0.5 MPa
—
> T | 0.4 MPa
c 20 —
a | -0.3 MPa
2 10 —0.25 MPa
O]
0
0 20 40 60 80 100 120
Length of attachment £ (mm)
LSH*-A20S
60
= _ | —+07MPa
z
< ~ | | o6mpa
o 40
2 0.5 MPa
% ;/ 0.4 MPa
P — 0.3 MPa
—— _—
= —0.25 MPa
O]
0
0 50 100 150
Length of attachment 2 (mm)
LSH*-A25S
80
= —l | o7mpa
g 60 0.6 MPa
[} T — |
2 -0.5 MPa
& 40— = 04MPa
=3 —_ ~/ :
5 20 T 0.3 MPa
2 —_—
& I 0.25 MPa
0
0 50 100 150
Length of attachment 2 (mm)
LSH-A32S
250
~ 0.7 MPa
z
< 200 —
5 0 —r | _|-06MPa
% 150 0.5 MP
Q — U. a
© 100 |
§ 0.4 MPa
5 %0 0.3 MPa

0
0 50 100 150 200
Length of attachment £ (mm)

Gripping power (N)

Gripping power (N)

Open direction
LSH-A06C
- 0.7 MPa
~ |+
6 - 0.6 MPa
~—
4 ‘// 0.5MPa
—
0.4 MPa
2 0.3 MPa
0
0 10 20 30 40
Length of attachment £ (mm)
LSH*-A10C
25
[ T +o7mpa
20 I F—+o6mpa
15 _l | 1 —+—T705MPa
10 0.4 MPa
5 — 0.35 MPa
0
0 20 40 60 80 100
Length of attachment £ (mm)
LSH*-A16C
60
+—+—0.7 MPa
0.6 MPa
0= —1 0.5MPa
—_ || 0.4MPa
20 .|| 03MPa
[ 0.25 MPa

Gripping power (N) Gripping power (N) Gripping power (N)

Gripping power (N)

0
0 20 40 60 80 100 120
Length of attachment £ (mm)

LSH*-A20C
100
. || }o07MPa
[ —06MPa
60 0.5 MPa
40— | 1 04MPa
—0.3 MPa
20 0.25 MPa
0
0 50 100 150
Length of attachment 2 (mm)
LSH*-A25C
160 0.7 MPa
// .
120 l—oGtH—""1 0.6 MPa
—T— | ___|-05MPa
80
———-04MPa
0.3 MPa
40 | 0.25 MPa
0
0 50 100 150
Length of attachment 2 (mm)
LSH-A32C
250
~—~N——t——10.7MPa
200 T 0.6 MPa
\\_
150 —-05MPa
100 ~0.4 MPa
50 0.3 MPa

0
0 50 100 150 200
Length of attachment £ (mm)

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STS/STL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
ShkAbs

FJ
FK

[ SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

CKD 1571



LSH'E / LSHL'E I LSHM'E Series

LCM
LCR
LCG
LCW
LCX
ST™M
STG
STS/STL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCAC-N
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

Chuk
MecHnd/Chuk
ShkAbs
FJ
FK

SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HAGHL3G
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD

BHE

Gripping power performance data LSH-G / F**D / LSHL-G/ F**D / LSHM-G / F**D (double acting)

- The gripping power indicates the thrust (for one finger) in the direction of the arrow shown in the figure.

- The gripping power operating in the opening/closing directions against the length () of the attachment when the

supply pressure is 0.7 MPa or less is shown.

@ Open direction (<=)
@ Closed direction (=)

A
Y

1572 CKD

T\ Gripping point

Closed direction

Gripping power (N)

Gripping power (N)

Gripping power (N)

Gripping power (N)

Gripping power (N)

Gripping power (N)

LSH-G/FO06D
| ——+0.7 MPa
~ I
~ n
I
\ | ———0. a
~ ~
\\\\// 0.4 MPa
2 . +— 0.3 MPa
0

0 10 20 30 40
Length of attachment £ (mm)

LSH*-G/F10D

20
0.7 MPa
=

15 — | 1 -06MPa

— —
"] _1-05MPa
10 0.4 MPa
5 T 0.3 MPa
—1 0.2 MPa

0
0 20 40 60 80 100
Length of attachment £ (mm)

LSH*-G/F16D

50
40 : 0.7 MPa
30 ™ 0.6 MPa
__:*‘~—0.5 MPa

20 0.4 MPa
10 ——— 0.3 MPa
0.2 MPa

0
0 20 40 60 80 100 120
Length of attachment £ (mm)

LSH*-G/F20D
80

0.7 MPa
60 —_— 0.6 MPa
—_ T 0.5 MPa
40 0.4 MPa

e N
00 |—— 0.3 MPa
0.2 MPa

0

0 50 100 150
Length of attachment 2 (mm)

LSH*-G/F25D

—l | 1 07MPa
80 T 06MPa
60 —0.5 MPa
20 0.4 MPa

 T———0.3MPa

20 0.2 MPa
0

0 50 100 150
Length of attachment 2 (mm)

LSH-G/F32D

250 0.7 MPa
200 — 1+ 6wmPa
—_—— 1 —o.

150 —0.5 MPa
100 —0.4 MPa

—0.3 MPa
50 0.2 MPa

0
0 50 100 150 200
Length of attachment £ (mm)

Open direction

Gripping power (N) Gripping power (N) Gripping power (N) Gripping power (N) Gripping power (N)

Gripping power (N)

LSH-G/F06D

~~

| [ —}o7mPa
] —— 0.6 MPa
— 0.5 MPa
— | | 04MPa
—— 1 1 03MPa

0.2 MPa

[y
I

N A~ OO 00 O

(e}

0 10 20 30 40
Length of attachment £ (mm)

LSH*-G/F10D

30 [ 1 o07Mpa
Bf——1"1 11 o06MmPa
20 [ —1-05MPa
15— T t——104MPa
10 0.3 MPa

5 0.2 MPa

0
0 20 40 60 80 100
Length of attachment £ (mm)

LSH*-G/F16D

80 0.7 MPa
[ Lo

60 — | o6wupa

////0.5 MPa

40 [ 04MPa

] |_1-0.3MPa

20 0.2 MPa

0
0 20 40 60 80 100 120
Length of attachment £ (mm)

LSH*-G/F20D
100

0.7 MPa

80 0.6 MPa

60— 0.5 MPa

T 0.4 MPa

40 —0.3 MPa

20 —0.2 MPa
0

0 50 100 150
Length of attachment 2 (mm)

LSH*-G/F25D

T 1 o07Mpa

120 —0.6 MPa

0.5 MPa

80 +—0.4 MPa

—0.3 MPa

40 ~0.2 MPa
0

0 50 100 150
Length of attachment 2 (mm)

LSH-G/F32D

300
—1 [ T 1o7wpa
20— T T oeMPa
200 L 0.5MPa
150 0.4 MPa
100 - —F—— 0.3 MPa
50 —T——0.2 MPa

0
0 50 100 150 200
Length of attachment £ (mm)



LSH'F / LSH'G Series

Gripping power performance data

Gripping power performance data LSH-G / F**S / C (single acting)

LCM
LCR

- The gripping power indicates the thrust (for one finger) in the direction of the arrow shown in the figure.
- The gripping power operating in the opening/closing directions against the length () of the attachment when the | cx

supply pressure is 0.7 MPa or less is shown. %
@ Open direction (<=) Closed direction Open direction gﬁ%
@ Closed direction (=) LSH-GOBS/LSH-F06S LSH-GOBC/LSH-FO6C [UCA2
4 8 ULK*
N JSKIM2
—_ — — ~~ [ pe=- s
s , \// 0.7 MPa z . | 0.7 MPa 1SG
o ~ | o | QL IQ0,
8 ~_ | 10.6MPa 5 ~— | +06MPa | JSCIUSCH
3 ~ I~ g ~ | USSD
Qo 2 0.5 MPa Qo 4 0.5 MPa W
2 T~ 0.4 MP 2 —= Use
s . a s 0.4 MPa usc
O O 5 —_ g — UB
5 1 0.3 MPa 5 2 03MPa L
‘l_ (@) @] S VB
0 0 =2
YA AN 0 10 20 30 40 0 10 20 30 40 LML
l I Length of attachment £ (mm) Length of attachment £ (mm) :::(C:,'Xli
’) (‘
- - LSH-G10S/LSH-F10S LSH-G10C/LSH-F10C LBC
) £ 12 25 CAC4
— | | UCAC2
s 10 0.7 MPa g 20 ——t—07MPa
:I‘ ,‘: 58— 0.6 MPa 5 1 L —+06MPa |UCACN
z g 15 RCS2
g — —0.5 MPa 3 | | —+05MPa ‘Rocs —
jo)] ()]
5 . o4MPa £ 10 ——T—104MPa |pcC
= ] — =3 T
! & —I—T— | lo3sMPa & 5 ——035MPa SHC
O 2 MCP
‘ ‘ 0 0 GLC
HD 0 20 40 60 80 100 0 20 40 60 80 100 MFC
‘ Length of attachment £ (mm) Length of attachment £ (mm) BBS
RRC
LSH-G16S/LSH-F16S LSH-G16C/LSH-F16C GRC
50 60 RV3-
RV3
~ 4 |_1+0.7MPa _ | | —r07MPa 'NHS
—_—
F ;[ 3 ~—L_1—1 [ tosmra £ || +oempa HRL_
© © | — o 40 — LN
-© £ 30 —t 05MPa 2 | | lo5MPa
Q p— Q. —_——
_ -@- 2 5 T 0.4 MPa =2 —_ | | +04MPa | Chuk
s p— S —T lecHnd/Chuk
2 —— 3 20 MecHnd Chuk
£ 0.3 MPa 2 -03MPa o
o 10 o | | ShkAbs
l_‘ —0.25 MPa [ -0.25MPa |FJ
— \ - . 0 0 FK
Gripping point 0 20 40 60 80 100 120 0 20 40 60 80 100 120 SpdContr
H Length of attachment 2 (mm) Length of attachment 2 (mm) W
LSH-G20S/LSH-F20S 100 LSH-G20C/LSH-F20C LSH-HP
LSH
0.7 MPa | ——0.7MPa FH100
z Z 80 o
< — 0.6 MPa < 0.6 MPa | BSA2
& 40 — | 5] —_ | BHABHG
(c%L ] 0.5 MPa § 60— ——F——05MPa |pa
2 el 0.4 MPa 2 40 —0.4MPa | LHAG
S 20— = HAP
2 — 0.3 MPa 2 f— —03MPa o
© S ] o 20 HKP
— 0.25 MPa 0.25MPa |HCP
0 0 HGP
0 50 100 150 0 50 100 150 HLF2
Length of attachment £ (mm) Length of attachment 2 (mm) HLAHLB
HLAGHLBG
LSH-G25S/LSH-F25S LSH-G25C/LSH-F25C HLC
HLD
~ T | 1+07MPa _ | —+07MPa  puE
€ 60 ———to6MPa <= 120 '—///0.6 MPa | HMF-G
g ] g —_ HMFB
% 40 —_— | t-0.5 MPa % 80 | 1 05MPa ;—Flgoo
0.4 MPa - 1-0.4 MPa
2 0.3 MP 2 —03MPa
e ——— a = 40 @ HIL
) 1 025MPa 0.25MPa | HMD
0 0 HDL
0 50 100 150 0 50 100 150 HD
Length of attachment £ (mm) Length of attachment £ (mm) BHE
CKD 7

LCG
LCW




LS H 'H P Series

~Lem - Attachment length
LCR
% When mounting an L-shaped attachment, use within the range given in the figure at right.
LCX
STM
STG
__ STSISTL | Closed direction Open direction
STR2
UCA2 LSH-*06 LSH-*06
_ ULK" | L 40 ‘ 0.3 MPa 40 ‘ 0.3 MPa
Jskvz | Closed direction 0, 0.4 MPa 0, 0.4 MPa
JSG 30 &g, 30 oo,
——craen | L —_ \>4//.p 0.5 MPa_ — \>44p 0.5 MPa_
_JSCHSG4 ‘ £ R 0.6 MPa £ o 0.6 MPa
_ USSD | = = 2 0.7 MPa £ 2 0.7 MPa
UFCD 77@7— T NN ig 0.7 MPa_ T N ig 0.7 MPa_
uscC YN O T ‘ 10 10
A ©) [
_w | rJ }ﬁb o o
JsSB3 ! —D- 0 10 20 30 40 0 10 20 30 40
::ms 1 L (mm) L (mm)
HCM LSH*-*10 LSH*-*10
HCA Gripping point 100 o] 0.4 MPa 100 ‘ 0.3 MPa
__LBC | 80 NN\ 0.5 MPa 80 NG, 0.4 MPa_
_ CAC4 | —~ NN - _ o, 0.5MPa.
Jchcs E 60 N\ \% 0.6 MPa E 60 & 0.6 MPa
e E N E 8 ~0 S d
CAC-N T 40 N < 0.7 MPa I 40 \\ > 0.7 MPa
Lo Open direction 2 \\\Q\/g 2 &‘
RCC2 L 0 %\ N 0 N N
PCC L 0 20 40 60 80 100 0 20 40 60 80 100
~ SHC | - L (mm) L (mm)
_MoP YRY S i ‘ LSH**16 LSH*-*16
GLC A “T?J )ﬁ_} 120 — 0.4 MPa 120 ‘ 0.3 MPa
MFC |T | 0 Q =2
B T o 100 N 7@0 0.5 MPa 100 K2~ 0.4 MPa
— 80 & —~ 80 I\YO 0.5 MPa
RRC & = W2 0.6 MPa < 8 \0@ 2o Mra
__GRC | E 602 > 0.7 MPa E 60 NP 0.6 MPa
RV3* Gripping point T 40 N\ N T 40 N 0.7 MPa
—NHS | _>1PPINg point <O NN
% 20 \ QX’(\ 20 \\\ Y/‘
—n 0 NNN 0 R
0 20 40 60 80 100 120 0 20 40 60 80 100 120
Chuk L (mm) L (mm)
ecHndChk LSH*-*20 LSH*-*20
ShkAbs 150 0.4 MPa 0.3 MPa
7; ' 0.5 MPa 0.4 MPa_
T —~ 100 ‘> — ‘ 0.5 MPa
SpdContr € s 0.6 MPa_ = ?’%
— S S £ ) 0.6 MPa
Ending = \ 0.7 MPa = 2o MFa
0 N § T 0.7 MPa.
LSH 0 ( § K
FH100 0 50 100 150 50 100 150
BSA2 L (mm) L (mm)
BHABHG
~ LHA | LSH*-*25 LSH*-*25
LHAG 190 e, ‘ 0.4 MPa_ 150 o, ‘ 0.3 MPa_
HAP \’oo 0.5 MPa \6 o 0.4 MPa_
HKP — 100 N X — 100 N 0.5 MPa_
~ HCP e Q % 06MPa  E %, 06 P
__HGP | E, \ C 07MPa ¢ & 0.7 MPa
HLF2 N \
HLAHLB
HLAGHLEG \
“HLC | % 50 100 150 % 50 100 150
" HLD | L (mm) L (mm)
__HAMF_| LSH-*32 LSH-*32
:mig 200 200 0.3 MPa
_ HMFB | 0 0.4 MPa
HFP 150 07, 0.4 MPa 150 N7 0.5 MPa
 Edenn | — ° — © . a
EH500 € 7} 0.5 MPa € \ 0 —= <
T NN - NS 0.6 MPa
HBL E 100 ARN\NRX% E 100 RO —
HJL T \\ > 0.6 MPa I \\&S»/ 0.7 MPa_
—v | IR \N\Y 0.7 MPa 50 N
HMD g e ng\g&
~_HJD | 0 50 100 150 200 0 50 100 150 200
~ BHE | L (mm) L (mm)

1574 CKD



MEMO

LCM
LCR
LCG
LCW
LCX
STM
STG
STSISTL
STR2
UCA2
ULK*
JSKIM2
JSG
J8C3/JSC4
USSD
UFCD
usc
uB
JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2
CAC-N
UCACN
RCS2
RCC2
PCC
SHC
MCP
GLC
MFC
BBS
RRC
GRC
RV3*
NHS
HRL
LN

|Chuk
| ShkAbs
I
FK

SpdContr

Ending

LSH
FH100
BSA2
BHABHG
LHA
LHAG
HAP
HKP
HCP
HGP
HLF2
HLAHLB
HLAGHL36
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD
BHE

CKD 1575




LS H 'A Series

7£g Cylinder switch precautions
LCG . . " .
Lcw @ Switch mounting position list
LCX . . . .
~ 57y <Side mounting> <Rail mounting>
STG 26 to 20, 32 225 26 to 32
STS/STL Th h hol
—STR2 | Through hole RD1 1hrough hole RD1 [ Through hole
UCA2 I [ ~
ULK* I:] o L’*”l 2 O
JSKIM2 l @)
JSG [—
r-—- O] O e
1SC3USCA |—J o ¢ I ' l —
USSD | e
UFCD
uscC . . "
Switch Rail mounting
SJSBBS SleeBllte: Model No.
LMB LSH-AO6* F2/3[] 20.5 18 - -
LML F2/3S - - 9.5 (-) 7(-)
HCM . F2/3] 21 18 11 (21) 8 (18)
HCA LSH-A10 F2/3S 22 19 10 (22) 7 (19)
LBC . F2/3[] 21 17 11 (21) 7 (17)
ngc“z LSH-AT6 F2/3S 22 18 10 (22) 6 (18)
CACN LSH-A20* F2/3[] 26 20 16 (26) 10 (20)
UCACN F2/3S 27 21 15 (27) 9 (21)
RCS2 F2/3-PH - - 20 (30) 12 (22)
RCC2 LSH-A25* F2/3V-PV 20 12 20 (30) 12 (22)
PCC F2/3S 19 11 19 (31) 11 (23)
SHC F2/3] 32.5 20.5 22.5(32.5) 10.5 (20.5)
gfg LSH-A32D F2/3S 33.5 21.5 21.5 (33.5) 9.5 (21.5)
MEC T2/3] - - 18.5 (36.5) 6.5 (24.5)
BBS F2/3] 41 29 31 (41) 19 (29)
RRC LSH-A32S/C F2/3S 42 30 30 (42) 18 (30)
GRC T2/3] - - 27 (45) 15 (33)
RV3"™ | »when the lead wire is directed toward the head side, the dimension in parentheses apply.
NFIS | w_vindicates it cannot be mounted.
HRL
-igm @ Precautions
Sk Refer to precautions in the following table for the bore size to be used.
MecHndChuk | IeEy e Bore size recautions
] 200y | o6 | 010 | 016 | 620 | 025 | 032 .
% *RD dimension is the max. sensitivity position at open side end position and HD dimension at
— ® O | ® @ ® O | closedside end position.
__ SpdContr | The actual mounting position should be adjusted after confirming the operational status of the switch.
__Ending | ® | ®@| ®@| ® | ® | ® |“One switch can be mounted for one switch rail groove.
LSH-HP o) *Since the opening and closing stroke is short, only one side of the open or closed state is
LSH S detected for each switch.
EFH100 3 Ex: A single switch alone cannot detect what is shown in the following illustration.
~ BSA2 | S (1) Open (workpiece not gripped): switch OFF  (2) Workpiece gripped: switch ON (3) Closed (workpiece not gripped): switch OFF
 BHABHG | -c-g o o o0 0| @ Switch OFF Switch ON Switch OFF
~ LHA || @
LHAG = — 3 ——
HAP — _ < a— ' @ -
HKP _ED — = J
EiCGIIZ ® |  ®| ®| ® | ® | ® |*Becareful not to be caught in the lead wires when opening/closing the finger.
" HLE2 | *When using the L type switch for side mounting on the side of the port, the fittings may interfere
T HLAHLE | with the switch. Use fittings whose outer diameters are below those indicated in the following table.
— Mount position: port side Cylinder switch  gp
_ HLAGHIBG | Switch type: L-shaped type Fitti
% s @ & e | o 26 (RD) @5 or less MU
~ HMEG | 3 26 (HD) 26.9 or less &
HMF_B g 210 @7.4 or less f\
" HFP | ES 216 27.9 or less Yais!
EH500 @ 220 211 or less 1#
HBL PO P P RPS ° *When using a lead wire straight F3PV switch, the switch and lead wire protrude from the end face of
HJL the head side. If this protrusion is a problem, use F2/3V or F2/3S, or mount a rail.
7::\348 ® | @ | ® | ® | ® |‘Forswitch side mounting, the through hole cannot be used.
§
HJD ER o *For switch rail mounting, the through hole cannot be used.
~ BHE IS
1576 CKID



LSH 'G - LSH 'F Series

Cylinder switch precautions

Cylinder switch precautions %g'\Rﬂ
. . e LCG
@ Switch mounting position list LCW
. . . . LCX
<Side mounting> <Rail mounting> STM
@6 to 20, 32 @25 @6 to 32 STG
Through hole Through hole RD1 Through hole &
T 1 UCAz —
4—»‘ :
! l bEN ULK*
— (e} —] (2=
= g P—=— = ] ¢b—7 L— (@) JSKIM2
# % + 4 — ~ o
— Sy [ o) [ \>4 JSC3/JSC4
— " f =] i_ f?f i 2 USSD
HD1 o1 1 UFCD
Switch
Model No. Model No.
F2/3[] 20.5 18 - - ILMB
LSH-G/F06 F2/3S - - 9.5 (-) 7() h'\(/':k/l
LSH.G/F10 F2/3[] 21 18 11 (21) 8 (18) HoA
F2/3S 22 19 10 (22) 7 (19) LBC
F2/30] 21 17 11 (21) 7 (17) CACE
LSH-G/F16 F2/3S 22 18 10 (22) 6 (18) UCAC2
F2/3[] 26 20 16 (26) 10 (20) CAC-N
LSH-G/F20 F2/3S 27 21 15 (27) 9 (21) | UCACN
F2/3[] - - 20 (30) 12 (22) Egig
LSH-G/F25 F2/3V 20 12 20 (30) 12 (22) bee
F2/3S 19 11 19 (31) 11 (23) SHe
F2/30] 26 14 16 (26) 4 (14) MCP
LSH-G/F32 F2/3S 27 15 15 (27) 3 (15) GLC
T2/30] - - 12 (30) 0 (18) MFC
BBS

*When the lead wire is directed toward the head side, the dimension in parentheses apply.

*"-" indicates it cannot be mounted. ZI;(C::
@ Precautions |RV3"
Refer to precautions in the following table for the bore size to be used. %
Bore size LN

precautions

egory | o6 | 010 | 616 | 620 | 025 | 032 |

*RD dimension is the max. sensitivity position at open side end position and HD dimension at %
® | ® | ® ® | ® | ® | closed side end position. W
The actual mounting position should be adjusted after confirming the operational status of the switch. His
® | ® | ®| ® | ® | ® |'One switch can be mounted for one switch rail groove. Fk
o *Since the opening and closing stroke is short, only one side of the open or closed state is detected | |5 icoy;
3 for each switch. —
3 Ex: A single switch alone cannot detect what is shown in the following illustration. M
9 (1) Open (workpiece not gripped): switch OFF  (2) Workpiece gripped: switch ON  (3) Closed (workpiece not gripped): switch OFF
=} |
= Switch OFF Switch ON Switch OFF il
c | & © & o o LSH
2 5 '=- FH100
— | BSA2
< BHABHG
LHA
® | O | ® | ® | ® | ® |’Be careful not to be caught in the lead wires when opening/closing the finger. %
*When using the L type switch for side mounting on the side of the port, the fittings may inter- HKP
fere with the switch. Use fittings whose outer diameters are below those indicated in the HeP
following table. . ) e
L . Cylinder switch D HGP
Mount position: port side 2 HLF2
Switch type: L-shaped type Fitting HAHE
w | ® @ | e @ HAGHBG
o 26 (RD) @5 or less HLC
0]
3 26 (HD) 6.9 or less HLD
o 210 @7.4 or less 'HMF
=1 216 7.9 or less 'HMF-G
a 220 211 or less "HMFB
P PY P PY PY *When using a lead wire straight F3PV switch, the switch and lead wire protrude from the end face of | [HFP_
the head side. If this protrusion is a problem, use F2/3V or F2/3S, or mount a rail. FH500
PY *When using an F2/3V switch, this switch protrudes from the end face of the head side. ‘HBL
If this protrusion is a problem, use F2/3S or mount a rail. HIL
(K BE BK ) *For switch side mounting, the through hole cannot be used. %
= = ==
S8 ([ *For switch rail mounting, the through hole cannot be used. HID
E BHE

CKD 1577



LS H L'A Series

% Cylinder switch precautions
LCG . . " .
Lcw @ Switch mounting position list
LCX . . . .
STM <Side mounting> Through hole <Rail mounting> Through hole
STG 210 to 25 RD1 210 to 25
STSISTL \
__STR2 | o =
e oy $E_—L— =
75','8?"'\/'2 01O
—56 F o o
JSC3JSC4 HD1 4HQZ>
USSD — RD2
UFCD
usc Switch Side mounting Rail mounting
uB L ILE. Model No.
JSB3 F2/3] 22 17 12 (22) 7 (17)
LSHL-A10D
tms S 0 F2/3S 23 18 11 (23) 6 (18)
HOM LSHL-A16D F2/3] 24.5 16.5 14.5 (24.5) 6.5 (16.5)
HCA F2/3S 25.5 17.5 13.5 (25.5) 5.5 (17.5)
LBC i F2/3[] 30 20 20 (30) 10 (20)
CAC4 LSHL-A20D F2/3S 31 21 19 (31) 9 (21)
UCAC2 F2/3[] 33 21.5 23 (33) 11.5 (21.5)
CAC-N LSHL-A25D F2/3S 34 22.5 22 (34) 10.5 (22.5)
UCAC-N
F2/3] 28 23 18 (28) 13 (23)
o LSHL-A10S/C F213S 29 24 17 (29) 12 (24)
F2/3[] 27.5 20 17.5 (27.5) 10 (20)
PCC -
SHC LSHL-A16S/C F2/3S 28.5 21 16.5 (28.5) 9 (21)
MCP F2/3[] 33.5 23 23.5 (33.5) 13 (23)
GLC LSHL-A20S/C F2/3S 34.5 24 22.5 (34.5) 12 (24)
MFC F2/3] 38.5 27 28.5 (38.5) 17 (27)
iii LSHL-A25S/C F2/3S 39.5 28 27.5 (39.5) 16 (28)
GRC | *When the lead wire is directed toward the head side, the dimension in parentheses apply.
RV3* _
nHs | @ Precautions
% Refer to precautions in the following table for the bore size to be used.
Sl Bore size recautions
Chuc . [ P
_ MeatdCnuk | *RD dimension is the max. sensitivity position at open side end position and HD dimension at
ShkAbs o o o o closed side end position.
FJ The actual mounting position should be adjusted after confirming the operational status of the switch.
_FK_ | () o [ @ | *One switch can be mounted for one switch rail groove.
__SpdContr | o) *Since the opening and closing stroke is short, only one side of the open or closed state is
Ending g detected for each switch.
3 Ex: A single switch alone cannot detect what is shown in the following illustration.
LSH-HP g (1) Open (workpiece not gripped): switch OFF  (2) Workpiece gripped: switch ON (3) Closed (workpiece not gripped): switch OFF
II;?:OO g ° ° ° ® Switch OFF Switch ON Switch OFF
BSA2 | @ 5 ]
e - |
LHAG L] -
HAP o [ ] o @ | *Be careful not to be caught in the lead wires when opening/closing the finger.
~ HKP_| *When using the L type switch for side mounting on the side of the port, the fittings may interfere
__HCP | with the switch. Use fittings whose outer diameters are below those indicated in the following table.
HGP Cylinder switch ~ ,p
HLF2 Mount position: port side s
HLAHLB Switch type: L-shaped type Fitting
HGHES | ¢y | @ ° ° ML
HLC g 210 @7.4 or less S
B IO N S
~ HLD ] 3 216 @7.9 or less f\
__HMF || 8 220 211 or less \Q._@I
HMFG | 2 ﬁi
HMFB | @
HFP *When using the lead wire straight switch, the switch and lead wire protrude from the end face of the head side.
—pe [ J [ o (
FH500 If this protrusion is a problem, use F2/3V or F2/3S, or mount a rail.
HBL ° ° ° *When using F3PV switch, the switch protrudes from the end face of the head side.
HJL If this protrusion is a problem, use F2/3V or F2/3S, or mount a rail.
HMD (] [ [ @ | *For switch side mounting, the through hole cannot be used.
HDL =
HJD s & ] *For switch rail mounting, the through hole cannot be used.
BHE =
1578 CKD




LSHL'G I LSHL'F Series

Cylinder switch precautions

LCM
LCR
LCG
LCW
LCX
STM
STG
STS/STL
STR2
UCA2
ULK*
JSKIM2
JSG
JSC31JSC4
(@) USSD
(@) UFCD
usc
HD2 uB
o JSB3
LMB
LML
HCM
HCA
LBC
CAC4
UCAC2

Cylinder switch precautions

@ Switch mounting position list

<Side mounting>
210 to 20

<Rail mounting>
210 to 20

Through hole Through hole

1
1

HD1
L~ [ - RD2

1

Switch
Model No.

F2/3[] 22 17

Rail mounting

Model No.

LSHL-G/F10

7 (17)

F2/3S

6 (18)

LSHL-G/F16

F2/3[]

7 (17)

F2/38

26

18

6 (18)

LSHL-G/F20

F2/3]

35.5

255

25.5 (35.5)

15.5 (25.5)

CAC-N
UCAC-N

RCS2
RCC2

PCC

F2/3S

36.5

26.5

— [~ [~

24.5 (36.5)

14.4 (26.5)

SHC

MCP
GLC
MFC

BBS
RRC

GRC
RV3*

*When the lead wire is directed toward the head side, the dimension in parentheses apply.

@ Precautions
Refer to precautions in the following table for the bore size to be used.
NHS

(o:13 Bore size ] INHS
recautions HRL
egoy| 010 | 016 | 020 . T —
*RD dimension is the max. sensitivity position at open side end position and HD dimension at
P closed side end position.
The actual mounting position should be adjusted after confirming the operational status of the VecthdCruk

switch. W
*One switch can be mounted for one switch rail groove. Fl
*Since the opening and closing stroke is short, only one side of the open or closed state is FK
detected for each switch. SpdContr

Ending

LSH
FH100
BSA2
BHABHG

g LHA
LHAG
HAP

HKP
HCP
HGP
HLF2

Y ® Chuk

Ex: A single switch alone cannot detect what is shown in the following illustration.
(1) Open (workpiece not gripped): switch OFF  (2) Workpiece gripped: switch ON (3) Closed (workpiece not gripped): switch OFF

Switch ON Switch OFF

.

SWwia)l uowwWoD

o Switch OFF

*Be careful not to be caught in the lead wires when opening/closing the finger.

*When using the L type switch for side mounting on the side of the port, the fittings may interfere

with the switch. Use fittings whose outer diameters are below those indicated in the following table.
Cylinder switch oD

Mount position: port side
Switch type: L-shaped type

Bore size
210

Fitting O.D. oD
7.4 or less

216

7.9 or less

220

211 or less

Fitting

Bununow spig

*When using the lead wire straight switch, the switch and lead wire protrude from the end face

of the head side.

If this protrusion is a problem, use F2/3V or F2/3S, or mount a rail.

*When using F3PV switch, the switch protrudes from the end face of the head side.
If this protrusion is a problem, use F2/3V or F2/3S, or mount a rail.

*For switch side mounting, the through hole cannot be used.

ey

Bununoy

*For switch rail mounting, the through hole cannot be used.

HLAHLB
HLAGHLBG
HLC
HLD
HMF
HMF-G
HMFB
HFP
FH500
HBL
HJL
HMD
HDL
HJD

BHE

CKD

1579





